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[3] Capitalistic Economy uses @{e mw.nnzoﬁm_ means of
Y s

2006 - NOVEMBER

-[1] ‘Economics is the study of mankind in the ordine
iven by: =T _
() Adam Smith vk s wmssts |
(b) Lord Robbins diesws™
Yey-Alfred Marshall anla ) :
(d) Samuelson &a?:av MX@% QL
Answer: :
(c) ‘Economics is a study of mankind in the ordinary busis
the welfare definition given by Alfred Marshal.
[2] The branch of economic theory that deals with the problem of
of resources is : " )
& Micro Economics By
(b) Macro Economics "
(c) Econometrics :
(d) None of these
Answer:

(@) The study of micro economics deals with how a producer

his resources and fixes a price of his product for ti
utilization of resources.

resources.
(a) demand




w A study of how increase in the corporate income tax rate will affect the
natural unemployment rate is an example of :

(@1 Macro Economics

{b) Descriptive Economics

(e} Micro Economics

{d) Normative Economics

Answer:

(a) Macro economics studies the economy as a whole. Therefore,
increase in corporate income tax rate and its effect on
unemployment is at macro level.

(5] In which type of economy do consumers and producers make their
choices based on the market forces of demand and supply?
(@) Open Economy
(b) Controlied Economy
() Command Economy
1y Market Economy
Answer:

(d) Ina italistic economy, producers make their choices based on
market forces of demand and supply. Capitalist economy works
under price mechanism i.e. prices are determined by free interplay

of demand and supply forces. A capitalist economy is also known as

“Market Economy”.
=

(1 mark)

(1 mark)

(b) Under free

(7] Which of the following falls N

|
2007 - AUGUST _

8] In a free market economy, when cons

price or Bmaﬁ
prices but they are

(2) National income .
(o) General price level
(c) Factor pricing __
(d) National saving and investment
Answer:
(c) Micro economics studies €
units. Pricing of every factor is micro

a goods and the level of EXCe
(a) demand, supply
(b) supply, demand
(c) prices, demand

(d) profits, supply
Answer: :
(a) In a market (capitalist) economy
forces of demand and supply. Whe

the supply remaining the same, the




el
e 3@ logic u«oamm% from : |
LS\ Particular to general
(d) None (1 mark)
“method, conclusions are drawn of the basis of
and analysis of facts relevant to the inquiry. The logic
particular to general. The generalizations are based
on of individual examp'es.
‘Robbins, ‘Mmeans’ are:
(b) Unlimited
(d) All of these (1 mark)
efinition explains that there are unlimited
gam__?g@ and limited means (resources). Resources are limited
in nature and have alternative uses.

(1 mark)

ty has scarce resources and unlimited wants. Economics is the

idy of how to manage the scarce resources to fulfill the unlimited

5. Economics deals with how to make optimum utilization of
 fesources.

:m_ gxma 3@3

(a) Oo.m&aoa%

(b) Promoting both mm

(c) Co-existence of rich m___a

(d) Co-existence of public m:a

Answer:

(d) Mixed economyis characterized by thef
public sector. Under this economy pr
planning authority and market forces.

2008 - DECEMBER

_[13]Who defines Economics in terms of Dynamic Growth

v (a) Robbins

(c) Adam Smith

“Answer: .

(b) Economicsinterms of Dynamic Growthand Developr
by Paul A. Samuelson. Who states that “Economics
how men and society choose, with or without the
enjoy scarce productive resources which could ha
uses, to produce various commodities over time and
them for consumption now and in the future of amo
people and groups of society.

[14] A Free Market economy solves its Central _u_‘oc_maw_g« :

(a) planning authority (b) market mechanism

(c) both (d) none

Answer:

(b) A free market economy also known as a capitalist e
central planning authority to decide what, how
produce. Such an economy uses the impersonal f

demand and supply or the price mechanism 5 ‘
problems.

(b) Paul A Samue
(d) zoza




(c) price
Answer:
Same as Answer 3

[19] Economic Problem arises when :
(a) Wants are unlimited -

(b) Resources are limited

(c) Alternative uses of resources

(d) All of the above

Answer:

(d) Economic problem arises when
limited and resources have m:m_,:mzcﬁcmﬁw.
to basic economic problems of “what to
and “For whom to produce”.

Ic of capitalistic economy?
(b) Income inequality
(d) Collective ownership (1 mark)

L _u..mm employment
1 |

(d The characteristic of collective ownership does not belong to

| ﬁunm__mﬁ__o m.nm.:,,usé. The characteristic of collective ownership is
. that of socialistic economy where the entire control is of the 2010 - JUNE

Government.

] Mixed economy means [20]-Micro economics is also known as '
‘{a) All economic decisions are taken by Central Authority (a2) public economics. (b) price z..gér
(b} All economic decisions are taken by private entrepreneurs (c) income theory. I
{c) mno:o:.._o decisions are partly taken by the state and partly by Answer:
_ private entrepreneurs (b) Micro Economics is also known as Price A#mo_@
@ None of these (1 mark) [21] A developed economy uses technique
bams_,mq .(a) labour intensive. (b) omﬁ.nm__
{e) Mixed economy is characterised by presence of both private and () home-based. (d) traditional
~ public enterprise. In this economy, the government as well as private Answer: -
enterprises exist and hence economic decisions are taken both by (b) Developed Economies have more of tech
government and private enterprises. intensive techniques in production to have
vaacnzo:




(1 mark)

sumer Behaviour. (b) Product pricing.
r Prici (d) All of the above. (1 mark)

. ics is concerned with:
ﬂaﬁ pricing
nsumer behaviour
-uﬁuﬁ. _,!9:@

s conditions of a section of the people

v
gain? 17 e

pasdedd- 7

positive aspect of 8_!..3
[26] Mixed economy means :
(a) Coexistence of both private and
(b) Coexistence of poor and rich _uoan_o
(c) Both (a) and (b)
(d) None.
Answer:
(a) Mixed economy is an m§< 123

feature of mixed moo:o3< is ._.5 co-exist
_ public enterprises. _
[27] Which of these is a part of micro economics?

(a) Factor pricing (b) National

(c) Balance of payment (d) None.

Answer:

(a) Micro economics is the study of economic beh
firm or industry in the national economy. It is th
unit. Factor pricing relates to pricing of indi
is a subject of micro economics.

[28] Which of these is an example of macro

(a) Problem of unemployment in India

(b) Rising price level in the country
@ Increase in disparities of income
(d) All of above.




mics we study the
o= We Sludy the economic b
as overal| co ehaviour of large

.__ :ns__o:mognosoas_cs_ production
all these are A subject of macro economics,

ation of resourcos is paerformed by:
(b) Government

(d) Price mechanism (1 mark)

 aapitalistic economy has no central planning authority 1o decide
what, how and for whom 1o produce. Thus, the allocation of
1080UFCOS IS parformaed by the market forces of demand and supply
known as price mochanism.
hict of the following statemonts s Incorract?
Alfradt marshall propagated the wealth delinition of Economics

» Robbins introduced the "Scarcity” definition of Economics
Samuelson emphasised uson the "growth" aspect of Econormics
A.C Plgou belleved in "weliare" aspect of Economics (1 mark)
iswer:
SERBWEATR definition of Economics was glvan by Adam Smith and
' "Ancinguiry imo the nature and causes of the wealth of 1he
~ Umations’ — Adarm Shoith.

. "Soence which deals with weallh” — JB Say
altios of iIncome do nol perpotuate in
socialism (b) rixed econormy
) capitalism (d) none

ver:

(8) A relative aquality of income is an important feature of socialistic
- geonom . Educational and other facilities are enjoyed more or less
N - egually, *us the basic causes of inequalities are removed,

—'

N -

(1 mark)

— ] 1

[32] Which of the following are the features
(a) Planned economy ;
(b) Dual system of pricing exists
(c) Balanced regional development
(d) All of the above.

Answer: . M
(d) An economy which incorporates the features of both €2
socialist economies is called a mixed economy. It has !
features — .
(a) Mixed economy is a planned economy i.e. here the
has a clear and definite economic plan. B
(b) In mixed economy the prices are determined both
mechanism and central planning authority. Hence dual sys
of pricing exist. : ]
(¢) There is a balanced regional development in a mixed &
as the public sector enterprises will be set up in backy
for balanced development.
Hence, the answer will be all of these.

[33] Normative Economics is based on: : J
(a) Ethical Considerations (b) Facts and Generalisation
(¢) What is? (d) All of the above. (1 1r
Answer:
(a) Normative economics is concerned with welfare propositions. |

states "what should be the things.” It does not deal with f.
involves value judgments. The ethical aspect of economics
normative economics. For e.g. — What should be the w:
level? This is a normative statement.

[34] Dual system of pricing exist in:
(a) Free market economy
(c) Mixed economy

- -
-k

(b) Socialistic .0_330.3_%
(d) None of the above
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Answer:

(€) Mixed economy is a type of economy which combines the features
.o* both capitalistic and socialistic economy. In this economy, dual
.mmmﬂm_.:. of pricing exist i.e. prices of essential commodities are
amﬂm::,:ma.g the government while of others is fixed by price
mechanism (by interaction of demand and supply)

[35] In Inductive method, logic proceeds from:

(a) General to Particular (b) Particular to General

() Both (a) and (b) (d) None of these.

Answer:

(b) Under inductive method, conclusions are drawn on the basis of
collection and analysis of facts relevant to the enquiry. Here the logic
proceeds from particular to general. This means generalizations are
made based on facts collected.

[36] In a capitalist economy, allocation of resources is done by:

(a) Producers (b) Government

(c) Planners (d) Price mechanism

Answer:

(d) In a capitalist economy there is no government intervention. In this
economy the resources are allocated based on the demand of the
consumers. Producers will produce those goods which are in
demand without thinking about the public welfare. Hence, this
economy is guided by price mechanism.

(1 mark)

(1 mark)

2012 - DECEMBER

[37] A Capitalist Economy iollows the policy of :-
~ (a) Laissez faire (b) Regulated markets
(c) Promoting public sector (d) None of the above.
Answer:
(a) One of the guiding principles of capitalistic economy is that the
economic system should be free from government intervention

(1 mark)

and be driven by market forces. Laissez faire means allow to pass.

Thus, capitalistic economy follows the policy of laissez — faire.

[38] ‘Economics is the science of choice making’ it implies:-

(@) No choice is to be made ) "
(b) Choice to be made between alternative uses
(c) Choice to be made between means and ends
(d) None of the above.

Answer:

(b) Robbins gave the following definition of economics — ! ower:
“Economics is the science which studies human behavio AR Ommcnzﬁ
relationship between ends and scarce means which have ait (@ used side
uses”. e , : o e e dedu
Thus, economics is a science of choice which is to be made £ obset
between alternative uses. Y 9 ducti
[39] Which of the following is a part of the subject matter of macrg De ol
economics? e k
(a) Study of firms A free mar
(b) Aggregate profits of a firm (@) profit 7
(c) Market demand for a product ) Welfare
(d) Net national product. (1 marky © Rising
Answer: c,.b None (
(d) In macro economics, we study the economic behaviour of large Answer:
aggregates such as overall conditions of economy, total production Free |
etc. Out of the options given, only NNP studies the national income (@) mean
which is related with the entire economy. .
[40] A capitalist economy is by and large: 1o P
(a) a closed economy : econ!
(b) a free market economy g . 43)"Econorr
(c) a centrally controlled economy B (@) L. R

(d) an economy in which a government neither collects any taxes nor (c) Alfre
incurs any expenditure. (1 mark) Answer
Answer: (a) Acc
(b) A capitalist economy also known as free market economy has no end
central planning authority to decide what, how and for whom fo wal
produce. Such an economy uses the impersonal force of the market ) A syste
demand and supply or the price mechanism to solve its central and co
problems. called
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j1)Deductive and Inductive methods are complimentary to each other. Itis:

(a) Absolutely correct
(c) Partially incorrect
Answer:

(a) Deductive and inductive methods are not mutually exclusive and are
used side by side in any scientific inquiry. Conclusions drawn from
the deductive method of reasoning are verified by inductive method
of observing concrete facts of life. Thus, it can be said that
Deductive and inductive methods are ccmplementary to each other
is absolutely correct.

9] A free market economy's driving force is:

{a) Profit motive

(b) Welfare of the people

{c) Rising income and levels of living

{d) None of the above.

Answer:

(a) Free market economy or capitalist economy is in which all the
means of production are owned and controlled by private individuals
for profit. Thus, profit motive is the driving force of a free market
economy.

43] "Economics is neutral between ends". The statement is given by:

{a) L. Rabbins (b) Mrs. Joan

(c) Alfred Marshall (d) A.C.Pigon.

Answer:

{a) According to Prof. Lionel Robbins ‘economics is neutral between
ends.” Ends refer to wants. Human wants are unlimited. When one
want is satisfied, other wants crop up.

44) A system of economy in which all the means of production are owned
and controlled by the private individuals for the purpose of profit, is
called:

(b) Absolutely incorrect

(d) None ofthe above. (1 mark)

(1 mark)

(1 mark)

(b) Capitalist Econo

(a) Socialist Economy ist ,_

(c) Mixed Economy
>:wim-4" . YL i ot "
(b) Capitalistic is an economic system in s: k all
production are owned and controlled by pr <m$_ nn__s du
The government do not interfere in the management of

affairs under this system.

2013 - DECEMBER

[45] Where does price mechanism exists?
(a) Capitalist Economy (b) Socialist Economy :
(c) Both type of economies (d) None of the above. (1

Answer: :

(a) A capitalistic economy has no central planning authority to decide =
what, how and for whom to produce. This economy uses the K
impersonal forces of the market demand and supply or price Vo
mechanism to solve its central problems. '

[46] Economics which is concerned with welfare propositions is called
(a) Socialistic economics (b) Capitalistic economics
(c) Positive economics (d) Normative economics (1 mark)
Answer:
(d) Normative aspects is concerned with welfare propositions. It
involves value judgements. It is prescriptive in nature and describes
‘what should be the things’. For eg. what should be the level of
national income, what should be the wage rate. =2
Thus Normative economics is the correct option.
[47] In which among the following systems the ‘right to property’ exis
(a) Mixed economy _ ot
(b) Capitalist economy
(c) Socialist economy
(d) Traditional economy
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Answer:

(b) Omuwm__.m:.. is an economic system in which all the means of
u_.oac.g_o: mB.oi:oa and controlled by private individuals for profit.
The right of private property means that productive factors such as

Answer: A
(c) Many classical economists defined coo_..oa:ﬁm_ﬁ»_wﬁﬁ_ of
Say is one of them. He said Economics is a “Science

i with wealth.” ; ke o
land, factories, machinery, mines etc are under private ownership.  [51] Which of the following is not a feature of a capitalist economy? . (©)
._..:m owners of these factors are free to use them in the manner they (a) Right to private propeny . 7_..m
like. (b) Restrictions on consumers Rightto choose ' @
Thus option (B) is correct. (c) Profit motive
[48] Positive science only explains (d) Freedom of enterprise (1 mark)
(a) Whatis? (b) What ought to be? Answer: J.
(c) What is right or wrong (d) None of the above. (1 mark) (b) The features of a capitalist economy are: 1
Answer: (1) The right of private property. - i \
(a) A positive or pure science analyses causes and effect relationship (2) Freedom of enterprise. . .._@p
between variables but it does not pass value judgement. it states (3) Freedom to choice by the consumers. 1

what is and not what ought to be
Thus, option (A) is correct.
[49] Socialist Economy is also known as
(a) Mixed Economy (b) Planned Economy
(c) Capitalist Economy (d) None of the above.
Answer:
(d) A mixed economy is a planned economy in which the government
has a clear and definite economy plan.
Socialist economy is also known as centrally planned economy
because there is central authority to set and accomplish
socio-economic goals.
Thus, correct option is none of the above.

2014 - JUNE

50] Who has defined economics as “Science which deals with wealth” ?
(a) Adam Smith (b) Canon

(c) J.B. Say (d) A.C. Pigou

(1 mark)

(1 mark)

(4) Profit motive.
(5) Competition.
(6) Inequalities of income.
Hence, restrictions on consumers rightio chooseisnotafeatuyre
of a capitalistic economy. 4
[52] The term “Mixed Economy” denotes: i
(a) Co-existence of both consumers and producers good's industriesin
ihe economy.
(b) Co-existence of both private and public sectors in the economy.
(c) Co-existence of both rural and urban sectors in the econorny.
(d) Co-existence of both large and small industries in the economy.

(1 mark)

—

Answer:

(b) The term “Mixed Economy” denotes co-existence of both private
& public sectors in the economy. In fact, in a mixed economy,
there are three sectors of industries: .
(a) Private sector

(b) Public sector
(c) Combined sector.
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[56] All wants of an individual are not of:

® |Solved Scanner CA Foundation Paper - 4A (New Syil:

ion of (2) Equal importance (b) Immediate importance Sns
A ixed i 3 mark)

) innovate an entrepreng; is to mv _n_xmw importance (d) All of the above (
o) finance (b) bear the e nswer: : %
©) (d) o Sense of responsibility (a) Allwants of individuals are not of equal importance as all cannot
el ST profi (1 mark) fulfilled.,
a) ENtrépreneur is one of o factor of . [57] is another name of production possibility curve.

co-ordinate with other factors __xmn_. Production. He s the one who (@) Indifference Curve (b) 1SO-Product Curve

functions of entreprene,, > ond, labour, capita) et

. Various (c) Transformation Curve (d) Diminishing Utility Curve

(1 mark)
. Mportant function of an Answer: :
Under Inductive methog logic . (c) PPC also known as Production Possibility Curve, Production
(a) General to particular U_.oﬁﬁ%mwm Lot Possibility Boundary, Transformation Line/Curve.
: S ositive to Normative
(¢) Normative to positive (d) Particylar to general (1 k
Answer: mark)

2015 - DECEMBER

Oc:o_cmmo:w ar
‘ | € drawn on t
collection and analysis of S0

facts relevant o the enquiry. T
this case proceeds from t sl

[58] Who is the author of “The Nature and causes of wealth of Nation"?

(a) Karl Marx (b) Adam Smith

(c) J B Say (d) A C Pigou. (1 mark)
15 - JUNE Answer:

(b) Science of wealth:

. : : Although the activity of acquiring and increasing material wealth is

| The meaning Q time element in Economics is: as old as civilisation, a disciplined study of the wealth producing
(a) Calendar time activities commenced about 235 years back (in 1776) when Adam
(b) Clock time Smith, the father of Economics, published “The Nature and Causes
(¢) Operational time in which Supply adjusts with the market demand of wealth of Nations”.
(d) Nor.e of the above. (1 mark) [59] Micro economics does not study
Answer: (@) Consumer behaviour
(@) In Economics the time element is taken as

per day, per week, per (b) Factor pricing
month, per annum etc. Hence time element should be taken as

(c) General price level
calendar time. (d) Firms equilibrium. (1 mark)




(9 z—._g _.ubo:ea.nm is the study of particular firms, particular
_ households, individual price, wage income, individual industries and
_ particular commodities
We mainly study the following:
(i) Product Pricing
(i) Consumer Behaviour
(i) Factor Pricing
(iv) Economic conditions of a section of the people
(v) Study of firms
(vi) Location of industry
[60] Find out the correct statement
(a) Higher the prices, lower the quality demanded of a product are a
normative statement
(b) Micro and macro-economics are interdependent
. (c) In a capitalist economy, the economic problems are solved by
planning commission
(d) In deductive method logic proceeds from particular to the general.
(1 mark)
Answer:
(b) Micro and Macro Economics are interdependent on each other
because they both play a vital and in most cases they play a
complementary role Ex. National income cannot grow unless the
production in individual firms and factories rises.
{61] Which of the following illustrate a decrease in unemployment using the
PPF?
(a) A movement down along the PPF
(b) A rightward shift of the PPF
{c) A movement from a point on the PPF to a point inside the PPF
(d) A movement from 2 point inside the PPF to a point on the PPF.
_. (1 mark)

er = 1] Nature and Scope of Economics |m [ 4.895 | [ 4.896 | m [solued Scanner CA Foundation Paper - 4A (

Answer: 3 2 e
(d) A movement of point inside PPF to on the PPF indi

growth in an economy and wherever Sw..w is _m._.. _
unemployment it shows that an economy is making prog
towards growth by optimizing its full resources.

2016 - JUNE

[62] Micro Economics is the study of:

(a) Individual parts of the economy

(b) The economy as a whole

(c) Choice making

(d) Development of the economy.

Answer:

(a) The term micro economics is derived from the Greek word mikros,
meaning “small”. In micro economics we study the economis
behaviour of an individual, firm or industry. In the national economy,
It is thus a study of a particular unit rather than all the units combined,

@

ive |
2016 - DECEMBER .5\5 ol
| Answer:
(c) \nductive
A463] According to “Economics is a Science which deals with wealth", pasis Of ¢
(a) Walker (b) Fairchild i logic in
(¢j Adam Smith {dy J.B. Say (1 mark) generali
Answer: \ Thus, O}
(d) According to J. B. Say “Economics is a science which deals with ﬁg‘_nj Ecor
wealth”. ” : the OX(@Q—J _
[64] Freedom of choice is the advantage of E x
i , o ~ (a) Laissez
(a) Socialism 16) Capitalism  lerMixed |
(c) Mixed Economy (d) Communism (1 mark)
Answer: \

(b) Freedom of choices is the advantage of capitalism.
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 ofinition of €CoNOMics given by Roppin i
mm_oiwam SEpoct. Indicate that e S does not deal with one of the

gcarce means 5

(@ Alternative uses rbaw m_B;mn_ w:a.m :
© swer: conomics is a science (1 mark)
An - .

(p) Definition of economics given by Rabbins does not deal with limited
ends as in the definition. He deals with unlimited ends

gconomic system in which all :
mﬁoﬂ:o:ma by private individuals qowd%.wﬂw wmﬁo.umq_wmn%oﬁ_o: SRR e
(@ _.swxm.a .moosoné. (b) Socialist Economy
(¢c) Capitalist Economy (d) Developed Economy (1 mark)
Answer:
(c) Capitalist economy is a system of economy in which all means of
production are owned and controlled by private individuals for profit.

2017 - JUNE

7] In which of the following methods conclusions are drawn on the basis of
collection nalysis of facts?

(a) Deductive method (b) Scientific method

J{e}inductive method (d) Experimental method. (1 mark)

Answer: :

(¢) Inductive Method: Under this method conclusions are drawn on the
basis of collection and analysis of facts relevant to the inquiry. The
logic in this case proceeds from the particular to general. The
generalizations are based on observation of individual examples.
Thus, option (c).is correct.

38] Which Economic System is described by Schumpeter as ‘capitalism in
the oxygen tent’?

(a) Laissez- Faire Economy (b) Command Economy

ey Mixed Economy (d) Agrarian Economy. (1 mark)

P Y

Answer: Sl

(c) Mixed economy is described 3‘. m.o:cq:vmﬁq. Mm& 50
oxygen tent”. According to him it is 9.5\ a tric O

cheat the working class by Oﬂm::_@ a..mqun e mogw. 2
advantages like social security, upliftment of the de .

etc. Thus, option c is correct. : x

[69] Production Possibility Curve (PPC) is also known as:

i Supply Curve e
(a) Indifference Curve (b) . _
(c)-Transformation Curve (d) Demand Curve. (1 mark)
Answer:

(c) Production-possibility curve is aiso known as wwm:mﬁ.oaowﬂum QM_QMH
it is a graph that shows the different rates of production of tw _.mi._.a.wn..
that an individual or group can efficiently produce with lim
productive resources. ; g )
[70] The Central problem in every economic society is: e
(a) To ensure a minimum level of income for every individual. s o
(b) To allocate scarce resources in such a manner that societies
unlimited wants are satisfied in the best possible manner.
(c) To ensure that production occurs in the most efficient manner.
(d) To provide job to every job seeker. (1 mark)
Answer:
(b) Every economic system, be it capitalist, socialist or mixed, has to
deal with this central problem of scarcity of rescurcss relative to -
wants for them. The central economic problem is further divided into
four basic economic problems.
These are:
(i) What to produce
(i) How to produce
(iii) For whom to produce

What provisions (if any) are to be made for economic grcwth?




_.

.._Eﬂlaﬁg
2ss Economics was given by
) Afired Marshal
{d} L Robbns {1 mark)

ﬁggﬁmlﬁgf;& Dean.
_;Egﬂ%
2s e first book user on economics
soreated i 1770
lnslgmm.lmmﬂ..ﬂ:ﬁuﬂm
lllw&..w, (1 mark)

 Answer

uiganﬂgﬂg He wrote the book ‘the

Melhre and causes of Wealth of Nations’ in 1776. This book was
aso known =5 “Wealh of Nations'. He defined economics at ‘An
gy Cufs the nature and causes of wealth of nations’

india Mied Economy exists due t0:

_,_h__._n- snexisience of public sector and privale sector

L

(c) _&aunmg is described by S _
text’. gﬁaﬁgwnﬂ&naﬁ
working ciass by offering them some e
social security, upliftment of depressed cle
[76] Captalistic Economy user ___ as ﬂqﬁnﬁl
resources:
(a) demand
(o) supply
(g} prics
(d) 2ll of the above.
Answer:
(c) Price is principal means of allocating resources in c2
is not in socialist economy. Price Mechanism is a ¢
capitalist economy.
[77] Under inductive method logic proceeds from:
(@) General to particular
(b) Positive to narrative
{c) Normative 1o positive
_{dy- Particular to general
Answer: .
(d) Inductive Method is a method which is based on fz
method logic proceeds from particular to general.
method based on assumptions and in this logic
general to particular.
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N THEORY OF DEMAND AND SUPPLY

i and
3 Legend Unit 1: Law of Demand and Elasticity of Dem
jecti A o o Demand and Law of Demand
o%a_ém e m Eletnquish mo e “ ! : ular
m B : N JEeeerpe .u....“. N Desire to have a commodity backed by uchMm_:@ U%im_. at a particu
[ i i ime i and.
rice in a particular period of time is known as bemand. ; £
; S wmém:n_ per commodity refers to amount of the commodity which consume
1z

4 - 3 . : .q
#A%%  arewilling and able to purchase at a particular price in a particular period O

AAA  time
LD .
H\\w\ﬂﬁ Types of Demand:
=0 ivi ket Demand:
) 1. Individual and Marke ==t : =

m HH The quantity of a commodity that an individual consumer IS willing to

£ 2 AR

DTS
(B
RA A
LT

purchase at given price during given period of time is known as
Individual demand.

Total quantity of commodity that all the consumers are willing to buy at
2 [ given price during a given period of time.
54 2. Ex-ante and Ex-post Demand: ;
; =t Ex-ante demand refers to the amount of goods the consumers
Dec1d  Jreld  Decld  Jne15 Dxc15  Juei8 Dl Jrei?  Dect? 181 i
Examirations

want/willing/planned to buy during a particular time period.
Ex-post demand refers to the amount of the goods that the
consumers actually purchased during a specified period.

Ex-ante demand can be less, more or equal to ex-post demand.
3. Joint Demand:
For detailed analysis Login at www.scannerclasses.com

for registration and password see first page of this book.

It refers to the demand for two or Boa_@ooam which are used jointly or
demanded together.

Example: Car and petrol, pen and ink, mobile and Sim card.
4. Derived Demand:

The demand for a commodity that arises because of the demand for
some other commodity.
Example:

: .mam__ bricks and Cements are derived from the houses or
other buildings. All the factors of production are derived demand.
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Composite Demand:

Demand for goods that have multiple uses is called multiple or
composite demand.

Example: Electricity and Milk. -

Factors affecting Demand 5

1. Price of the commodity:

When the price of the commodity increase the demand decreases and
when the price of the commodity decreases the demand increases. Price
and demand are inversely related. This type of demand is known as
price demand.

+ P 1 Increases D | Decreases

P | Decreases D 1 Increases

2. Price of related goods (also known as cross demand)
Related goods can be classified into two goods.

1. (@)] Complimentary goods |(b)|

» |Goods that are used together to
satisfy a given want.

Substitute goods _
Goods which satisfy same
type of demand and can be
used in place of one another.
eq: tea and coffee, cake and
pepsi.

There is direct relationship
between demand for product
and price of its substitute.

4o 1

eg: car and petrol, gas and
gas stove.

There is an inverse relationship
between demand for a good and
a price of its component.

A

Price of petrol

Price of coffee
o

7 D

Demand for tea

Y

Demand for Car

Y

| 4904 |m (solved Scanner CA Foundation Paper - 4A (New

3.

4,

-

6.

Consumers taste and Preference:

Taste and preference depend on social cus.om habits of the people,
fashion and the general lifestyle of the people efc. of taste ang
preference are strong for the product demand increases and if taste and

preferences are weak and unfavourable for the product demang
decreases.

Consumer Expectation regarding price in future

If consumer expects increase in price in future demand increases in

present. It consumer expects decrease in the price in future demand
decreases in present.

Consumer credit facility
If credit facility to consumers are available, demand increases. If credit
facility to consumers are not available, demand decreases.

Ex: Our loans are easily available in India that's why there are so many
cars in India.

income of the consumer
The relation between income of the consumer and demand can be
understood taking three types of commodities.

(a) Normal goods: There are those goods the demand for which

increase with increase in income of the consumer and decrease with
decrease in income.

Example: Furniture, Television and clothes.

(b) Inferior goods: These are those goods the demand for which falls
with increase inincome of the consumer and uses with the decrease

in income of the consumer, there is a inverse relationship between
the income of the consumer and demand for inferior goods.

Example: Maize and Bajara

(c) Inexpensive goods of necessities: These are those goods the
demand for which increase in income upto a certain level and
thereafter remains constant irrespective of the level of the increase.

This functional relationship between demand and income is
known as income demand.

Example: Salt and Match box

bWy
m%m_ﬁﬁ_m. |
9040—.:_&.1
increase '
If gov
oads, B!
will incres
9 G._mnq.__ucn
Case I
{f incom
GOOQW.
Case \I:
f incorT
luxury ¢

8.

pemand F
The functic
- sknown &

Law of De
lstates tf
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Law
fuantity



, in the size of population the demand for commodity will

: ?_M_M”: ﬂnﬂovc_mﬁmg referstothe various mwumﬂm of population
ber of childrens, adults, males, females etc. of the number of

iple: Jeans, cricket bat will tends to increase.
aam:n Policy: If Government increases indirect taxes leads to
grease in price as a result demand decrease. ;
f government incurred more expenditure on the construction of
ads, bridges etc. The demand for the goods needed for construction
ill increase.
g, Distribution of Income:

Casel:
| income is distributed evenly there will be more demand for esse
goods.
~ Casell:
If income is distributed unevenly th
Juxury goods.
iand Function
= functional relationship between
known as demand function.

ntial

en these will be more demand on

the demand for a product and its factors

aw of Demand
tes that other things remaining constant, the quantity demanded of the
hodity increases when its price fall and decreases when its price rises.

Law of Demand explains the inverse relationship between price and

Assumption of Law of Der

1.
2.
3.
4.
5.
6
7
8
9

Exception to the Law of Demand:

1.

(c) Expectations regarding future price:

(d) Quality price relationship:

Price of related goods are kept

Price of the commodity are kept
Consumers taste and proference _
Consumer's expectation regarding price in ft

Consumer credit facility.

mcome of the consumer are kept ¢ w-
Size and composition of population are kept
Government Policies are kept constant.
Distribution of Income are kept constant.

Articles of Smob appeal (Conspicuous Consut
The Law of Demand does not apply to the comm
as status symbol increases social prestige all are a s
richness. example. Rich women would like to'buy d
price to show their richness. F

Giffen goods: )
(i) Giffen good are those inferior goods on which consur

large part of his income. g .
(i) Demand for which falls with the fall in their prices. .

Example: Maize and Jawar.

. If price of commodity is rising today and it is likely to
future then people demand more even at their existing
and store it up. _

«  Similarly, when the consumer anticipate a large
the commodity in future, they which postpone their pur
if price falls today. ,

. Sometime consumers take price as a index of qualit
more of the goods may be demanded at a higher
known as Veblon effect. _
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Mku:...u.m” Like Lux Premium, there is not much difference in Lux
mBBEB and rE.ﬁ International but a very huge difference in Price.
ut people will think that Lux International is more good as it has a

higher price.
(e) Change in fashion:

When a commodity goes out of fashion, consumer will not demand even

when its price is reduce.
(f) Emergency:
_.ms.\ of Demand may not hold good during emergencies like wars,
famines, drought, etc.
(g) Habitual goods:
If.the price of habitual goods increases, demand does not decrease.
Example: Cigarettes, Wines.

Demand Schedule
It is a tabular statement that shows different quantities of commodities

demanded at different prices during a given period.

It is of two types:-

(a) Individual demand schedule:
It is the table which shows various quantities of the commodities

demanded at different prices by a household/single consumer during a
given period.

(b) Market demand schedule:
It is the table which shows various quantities of the commodities

demanded at different prices by all the household in a market during a

given period.
Individual demand schedule:
Price Quantity demanded by Mr. A

10 5
20 A
30 3

2
1

40
50

Market Demand Schedule: -

Price Quantity Quantity Quantity

Demanded by Demanded by Demanded by
Mr. A Mr. B Mr. C

10 | 8 7 6 21
20 | 7 6 5 8
| 30 6 4 3 1
[ 40 3 2 1 5
[ 50 2 1 1 3

Demand Curve .
It is a graphical representation of different quantity demanded at different

price level.

1

Individual Demand Curve:

level by a single consumer.

Graphical representation of different quantity demanded at different price
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ﬂiﬁ— pemand Curve:

s agrap :.om. representation different quantity demanded at different price
vel bY all the consumers in a market.

Qﬁ..aeg_.msn_ma
byM. AM.B&M.C

Reasons for Negatively Sloping Demand Curve
1. Income Effect:
« A change in demand on account of change in real income resulting
in the change in the price of the commodity is known as income effect.
« When the price of the commodity falls which results in increase in
purchasing power and consumer can buy more and consumer feel
CBETTER ©OFF":
« On the other hand with an increase in price purchasing power
decrease and consumer reduces the demand and feel “WORSE OFF”
2. The Law of Diminishing Marginal Utility
« The law of diminishing marginal utility states that with an increase in
the units of a commodity consumed every additional unit of the
commodity gives lesser satisfaction.
« Marginel utility falls with an increase in no:m:q._u:o:

= Example: Electricity will be used mainly fc

« A consumer will
equilibrium condition.
. If seller wants to sell more h
Substitution effect: =
« The substitution effect is a ¢
good has on the quality Qo
« When the Price of the comn
remains unchanged it becomes
its substitute.
. As a consequence demand for a con
. Example: If the price of tea falls and
same then demand for tea _zn.dmmu@g
demand from tea increases then con:
from coffee to tea. "
[Price effect | = [ Income effect | + [ S
Increase in number of consumer’s
« When the price of the commeodity falls ﬂ..m
increases and which increases the demand
- It happen because at a very high price only
buy that commodity and when the price falls
will also be able to purchase that i
Several uses of a commodity
«  When the price of such commodities. m@
high, they will be use for more im
= And there after small quantity will be in
fall these commodities will be put to less ir
to an increases in demand.

is high and if electricity will be used for co
also when its price falls. :



Shift in Demand Curve

| is known as movement along
| the demand curve.

When the amount demanded of a2
commodity changes because of
change in all factors other than the
own price of the commodity is
known as shift in demand.

-.n... it is 2lso known as change in | It is also known as change in
g _Gﬁﬁwnﬂ.ﬁ_ﬁm& demand.
- |3 | itis of two types. It is of two types.
ol { a) Exten {(a) Increase in demand
_ s (b) Decrease in demand
I % )
D, N\
_ \ \
- \ N
l 8 \ \ |
£ p | Dot g\ 5L
1 \ \
. 8 N\
D | o| B
.4_ e a G » (5} ) D.V..
; Quzrtity derrarded Quarty dermanded

Difference betweern Extension of Demand and Increase in Demand

Increase in Demand |

1. It refers to rise in quantity
. | |demanded of 2 good s 2 resuit
| |of fall in its price.

It refers to the situation when
consumer buy a larger amount of
commodity at the same price due 1o

o:m:mm in other factors.

2. |Price of the . oo:ﬁ..oﬂﬂm

decreases and other factors are
constant.
m% _u/ Exdensionof
&
Cemanded
P /r
P,
S - D
o >
Queniity demended

3. |There is a downward movement|There isa :@222.&
along the demand curve. curve.

U_mm«m: ce between contraction of Demand and
Contraction of Demand | Decrease i 5
# J: refers to a fall in quantity|it refers to a si

demanded of a good as a resulticonsumer buy a smaller am
of rise in its price. the commodity atthe
to change in other gﬁw.

fu:S of the commodity increases|Other factor changes a
jand other factors are constant. {commodity remains wma.m.

4 D p 8 Lonee
£ Corntraciond | 8 %, \inDemerd
o Demrended | & .
: 4/ B S
g i
70 Mv
o Qa7 Q Q




to a degree of responsiveness of quanti . .
e ehange in any of o dolamcinrie. q ity demanded of a commodity
Three main Q_umm of elasticities are:

9, Income elasticity

5, Gross elasticity

(a) Price Elasticity:

it refers .6 degree of responsiveness of a quantity demanded of a
commodity to a change in price.

Symbolically:
ep- Percentage change in quantity deranded
Percentage change in price

Degree/Classification of Price elasticity

1. Perfectly elastic demand. ep ==

2. Perfectly inelastic demand. ep=0
_ 3. Unitary elastic demand. ep=1
' 4. Greater than one/more elastic demand. ep > 1

5. Less than one/less elastic demand. ep <1

Perfectly Elastic Demand

When consumers are prepared to purchase all that they can get at a
particular price but nothing at all at a slight higher price. Demand curve is
parallel to x-axis.

j,

E -

P D

When quantity

price then the ela

Unitary Elastic Demand: , _
When the percentage change in price of
percentage change in quantity demand.
hyperbola.

!

q

Price
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[2]

Answer: -
(a) Veblen effect was given E <mw_m:.

Szmcauzoz. Veblen effect takes u_mom_ m_m _
measure the utility by its price i.e. if price rises tr

elasticity atpoint A=, atB=>1,atC=1,atD=<1

(@)

(b) elasticity at A=0,atB=<1,atC=1,atD=>1andatE
(c) elasticityatA=0,atB>1,atC=1,atD=<1andat
(d) None of these.
Answer:

(a) Y A

ME=T0

Y

-
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Wwhen change of demand is greater than price change thene > 1

(@

“ (p) When change of demand is less than price change thane < 1
. When change of demand is same as change of price then itis € =1
G When these is no change in demand as change in price thene=0
e _@ When price is change slightly but demand change at high then it is
e==
Here, C shows e =1 by which we can prove that

_Onvmn._.)uvmus.m.Um > 1
p=e<i,E=e= 0
Cardinal approach is related to:
(a) Indifference curve
o) Equi marginal utility
{c) Law of diminishing retums
(d) None of these.

@l

{1 mark)

Answer:
(b) Marginal utility theory is given by Alired Marshall and he assume the
cardinal approach which means we

| utility theory IS related

e ale
min e

Margina
can measure utility in 1erms of

of utility’ said by Marshall.
[4] Which economist said that money

y and “Money IS measuring rod

5 the measuring rod of utility?

A (a) ACPigou
Ao Marshall

() Adam Smith

(d) Fobbms (1 mark)

Answer:

(a) AC. Pigos defines economic wclfare as “that part of social (general)
weliare then can be brought direclly of indirectly into relation with
measuring 100 of money.

of perfect substituies s

(1 mark)

[2.918 | m [solved Scanver CA Foundation.

Answer: 4 =

(d) When there are perfectly substitutes available the cross elas
these perfectly substitutes leads 10 infinity as ris Ct
good will cause rise in demand of its sut utes E: t
ce the coffee’s demand rise as these both are perfectly
Cross elasticity of complementary | oods leads to zero.

concept.

(6] Supply isa
(a) flow
(b) stock
(c) flow and stock, both

(d) qualitative

Answer:
(a) Supply refers 10 ‘quantity of a good or service that consume!s
willing and able 0 purchase during a given period of time. SUpply 1S
2 flow concep! as quantity supplied is SO much per unit of time per
day, per week or per year. it is regularly going un supply means not
only those goods which are sold but also those which are in stock.
[7] Forwhat type of goods does demand fall with a rise in income levels of
households?
(2) Inferior goods
(b) Substitutes
(c) Luxeeries
(d) Necesities (1 mark)
Answer:
(a) Inferior goods are type of goods which are not of goods quality and
no one want 1o consume them but circumstances force 1o one to
rises of househoids then demand for

consume them. If income
inferior goods go down Of €
negative.
(8] An Increase in demand can resuit from:
\WV (a) A decline inthe market price

(o) Anincrease in iIncome

(c) A reduction in the price of substitutes

(d) An increase in the price of complements.
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Answer:

(b) Price m:a Demand are inversely related as price rises. Demand falls
and vice-versa but income and demand are directly related. As rise

in income increase the quantity demanded and falil in income
decrease the quantity demanded.

[S] Elasiicity between two points:
(a) point elasticity
(b) Arc elasticity
{c) Cross elasticity
(d) None.

(1 mark)
Answer:

(c) When price elasticity is to be found between two prices or two points
on the demand curve then it is not possible to know that what price
and guantity should be taken as base. So, the use are elasticity
method to know base price and quantity.

{10] Indifference curve is L shaped then two goods will be:

(a) Perfect substitute goods

(b) Substitute goods

(c) Periect complementary goods

(d) Complementary goods

(1 mark)
Answer:

(€) When two goods are perfect complementary goods (e.g. printer
and cartridge), the indifference curve will consist of two straight lines
with a right angle between them which is convex to the origin, or in
other words, it will be L shaped.

{11] The concept of consumer's surplus is derived from:

(2) The law of diminishing marginal utility.

(b) The law of equal-marginal utility

{c) The law of diminishing returns

{d) Engel's law (1 mark)

| 4.920 | m [solwved scanner CA Foundation Paper - 4A (New Syllabus) |
Answer:

(a) Consumer surplus is a surplus which a consumer would be willing
to pay rather then go without a thing over that which he actually
does pay. Consumer surplus is given by Marshall and it is derived

from = what a consumer is willing to pay - what he actually pays.
[12] When supply curve shifts to the right there is:
(a) an increase

(D) expansion
(c) contraction
(d) decrease

(1 mark)
Answer:

(@) When the supply curve shift to the right due to change in one or
more factors other than commodity own’s price. We say that there

is increase in supply and when supply curve shift to left we say that
tnere is decrease in supply.

[13] Short run price is also called by the name of:
(a) Market price

(b) Showroom price

(c) Maximum retail price
(d) None of these.
Answer:

(1 mark)

(@) Short run price is also known market price and it is determine by

central them of micro economic analysis, hence, micro economic
theory is also called price theory.

[14] When supply price increase in the short run, the profit of the producer

(a) increases .
(b) decreases a

(c) remains constant

(d) decreases marginally

(1 mark)
Answer:

(a) Supply and price are directly related as supply increase, price
increase and price decrease, supply decrease. So, increase in
supply-price will increase the profits of producer.

ﬁml.wo_r——m.ﬂ _Umﬂ.ﬂuﬂ :
5uppOSe the price of _
son to T 200 per pes
PP ces has lead to af
5 wmozm to 200 PEISERE
ﬂa% (Arc elastERY)ES
E 0.5
() 08
@) None of these. =
i Incase of an inferior got
', (a) Positive
:S Zero
[c) Negative
(d) Infinite
4 For what type of goods
households?
(@) Inferior goods
(0) Substitutes
() Luxuries
{d) Necessities
% In case of Inferior go
(8) Make the deman
) Reduce the dem
) Increase the der
9 Change the den



PRACTICE QUESTIONS OF MCQ

i pemand for a commodity refers to :
(a) Desire for the commodity
(b) Need for the commaodity
(c) Quantity demanded of that commodity
(d) Quantity of the commodity demanded at a certain price a:::m any

particular period of time.

] Suppose the price of movies seen at a theatre rises from ¥ 120 per
person to X 200 per person. The theatre manager observed that the rise
“in prices has lead to a fall in attendance at a given movie from 300

persons to 200 persons. What is the price elasticity of demand for the
movie? (Arc elasticity)

(a) 0.5
(b) 0.8
(¢) 1.00
(d) None of these.
3] In case of an inferior good, the income elasticity of demand is :
+a£ Positive .
(b) Zero
(c) Negative
(d) Infinite

4] For what type of goods does demand fall with a rise in income levels of

househalds?
(a) Inferior goods
(b) Substitutes
{c) Luxuries
(d) Necessities
5] In case of Inferior goods like bajra, a fall in its price tends to :
(a) Make the demand remain constant
(b) Reduce the demand
(c) Increase the demand
(d) Change the demand in an abnormal way

[6] Movement along the sar
(a) Expansion of demand
(b) Expansion of supply _
(c) Expansion and contraction n-w and
(d) Increase and decrease of demand
The price of hot-dogs increases y h
by 25% this indicates that amBm:a for hot dog
(a) Elastic T ey
(b) Inelastic =
(c) Unitary elastic ) _
(d) Perfectly elastic il
The quantity demanded does not qmm_ua:a to price
elasticity is : :
(a) Zero
(b) One
(c) Infinite
(d) None
[8] What is an Engels curve?
(a) Another name of demand curve
& (b) Curve showing both demand & supply curves
(c) Curve named after Lord Engels : _
(d) All
[10] Which factor generally keeps the price-elasticity of
¥ low: -
(a) Variety of uses for that goods
(b) lts low price
(c) Close substitutes for that goods
(d) High proportion of the consumer's i income s
[11] In case of a straight line demand curve m:
m_w&_o_@ of demand at the mid-paint of the
(a) 0
(b) 1
(c) 1.5
(d) 2

(7]

(8]



[12] An increase in demand can result from: ici i is:
e ¥ 1 |asticity of demand in Monopoly market is °
(a) A decline in the market price (18] Wwowmm_.%mmm i e
(b) An increase in income (b) Zero
(c) A qm.aco:o: in the price of substitutes () Infinite
(d) An increase in the price of complements (d) One e
—..._ wu nomwamﬁc_wm income mﬂm.w.w_o_«.wﬁ. _._. Q@BNDQ ﬂzoﬂ@mwom .D% WO\O m.._.-_.n— :.4_0030 _D,vm 1 0\0. M;_ @w éjmﬂ m_m :JOOH.._._.O mﬂmw.ﬂﬂ.—ﬁ{ D* ﬁ—mgmﬁ__a. S._—J.m_..._ mjgam Ojgammg NQO\ogG . . : ﬁ %mﬁm—mmm .—: 5
demand changes by 40% @m nwd chal .
(b) 1/5 1/2 { change in P!
€) 0 , (@) ) hange in ir
(d) None Fﬁww w o ) () mosm
[14] For a noBBo.%é with a unitary elastic demand curve if the price of the (d) None ,_ nmwmmmo._é betwn
mwﬁﬂwm__w e then the consumer's total expenditure on this (20 if demand is paraliel to x axis, what will be the nature of elasticity? 126! @) Point elasti
@ In oﬂmMm s i (a) Perfectly elastic : ~ (p) ArC elastici
({ WBacrease (b) Inelastic (o) Cross elas
(c) Remains constant (c) Elastic (d) None
(d) Either increase or decrease ﬁ% mI__mwz m_mwﬁ__n _ i . ﬁdﬁﬁm: ..Hu:om g
[15] What is the value of elasticity of demand if the demand for the goods is [21] CiteniEetELORIE e gXcepUomt m_mm»._o_d‘ of de
perfectly elastic? (a) Demand @ vertical 10
(a) 0 (b) Supply (b) Horizonta
5 (c) ?JEQ_S () Either (a)
(c) Infinity (d) tlity _ (d) None
d 0 [22] Lawof demandisa ,
() _nmmm an o : (a) quantitative statement (28] Demand of 2
[16] What is the original price of a commodity when price elasticity is 0.71 % q litafi (a) Price
and demand changes form 20 units to 15 units and the new price is (b) qualitative statement income
7107 Bointelastici (c) Both (a) & (b) (b) Inc
(@) z15.4 [Eenteieticy] (d) Hypothetical (c) Price of
| (b) 2 % (23] The demand of which type of goods do not decrease with increase inits (d) All of the
(c) 20 v price [29] In case of s
(d) 28 (a) Comforts (@) negativs
[17] If the price of any complement goods rises : (b) chcz _ (b) zero
(a) Demand curve shifts to left @V OM%M._MMM% ﬁv positive
_ none o

(b) Demand curve shifts to right
(c) Demand curve moves downwards
(d) Demand curve moves upward
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4l Increase in Price from ¥ 4 to % 6 then decrease in demand fron it
ES 10 units. What is the price elasticity. nm..:mmmﬂ“mﬂ:w_%%%%
(a) 066 |
(b) &
ﬂov —1.5
(d 2
95] Expansion & contraction of Dem-and curve occurs due to:
~ (a) Change in the price of commodity
(b) Change in price of substitute or complementary goods
(c) Change in income
(d) None .
[26] Elasticity between two points:
(a) Point elasticity
(b) Arc elasticity
(t) Cross elasticity
(d) None

[27] Wken price remains constant and quantity demanded changes, then the

elasticity of demand will be:
(@) Vertical to X axis
(b) Horizontal to X axis
(c) Either (a) or (b)
(d) None
[28] Demand of a commodity depends upon:
(a) Price
(b) Income
(e) Price of related good
(d) All of the above
[29] In case of substitute goods, cross elasticity is :
(a) negative
(b) zero
(c) positive
(d) none of these

(d) 1.5 _
[31] Other things remaining constant,
decreases then what will be t
(a) Demand increases
(b) Demand decreases
(c) Quantity demanded increases
(d) Quantity demand decreases. .
[32] When price falls from ¥ 6 1o X 4, the d em:
Calculate price elasticity of demand.
(@) 1.5
(D)} 3i8
(c) 0.5
-(d) 2 o
[33] Cross elasticity of perfect subs itutes is:
(a) Zero :
(b) Negative
(c) One
ety Infinity
[34] What is Engel's Curve?
(a) Curve showing three demand curve
(b) Namea after Ernst Engel
(c) Both (a) and (b)
(d) None
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[35] A consumer spends X 80 on purchasing a commaodity when its price is
% 1 per unit and spends I 96 when the price is ¥ 2 per unit. Calculate the
price elasticity of demand.

(a) 0.2
(b) 0.3
(c) 0.4
(d) 0.5

[36] When the price of cylinder rises from T 120 to ¥ 200, the demand falls
from 300 to 200. Calculate price elasticity of demand.
(a) 1.00
(b) 0.50
(c) 5.00
(d) None

[37] If the price is decreased from ¥ 10 to T 8 of a commodity but the quantity
demanded remains the same price elasticity is
(@) 1
(b) O
(c) 8
(d) none

[38] Demand for electricity power is elastic because
(a) itis available at a very high price.

(b) it is essential for life.
(c) it has many uses.
(d) it has many substitutes.

[39] If income of a person increases by 10% and his demand for goods
increases by 30%, income elasticity will be -
(a) equal to one.

(b) less than one.
‘(c) more than one.
(d) none of these.

[40] In case of luxury goods, the income elasticity of demand will be ;

(a) zero.

(b) negative but greater than one.
(c) positive but-greater than one.
(d) positive but less than one.

| 4.928 |® [solved Scanver CA Foundation Paper - 4A (New

[41] In case of straight line demand curve meeting two axis, the price
glasticity of demand at the point where the curve meets y- axis would
be Srie
(a) zero. ;

(b) greater than one.
(c) less than one. it

(d) infinity. | o
[42] Calculate income elasticity for the household when the income of the o 0.43
household increases by 10% and the demand for cars rises by 20%. ?& None- .
@) +2. —Qaﬂmn:o: of
(o) —2. 8\ increase in’|
(c) +5. @ gecrease in
(d) -5. . ; b crease ir
[43] The commodity whose demand is associated with the name of Sir (c) de ase ir
Robert Giffen? (g) decr® X
(a) Necessary good. ﬁm%xm for hou

(b) Luxury good.
(c) Inferior good.
(d) Ordinary good.

[44] In expansion and contraction of demand
(a) demand curve remains unchanged.
(b) demand curve changes.
(c) slope of the demand curve changes.

@) Compostte
o) Competitiv
() Joint

(g) Derived.
sNormal goods
 [a) zero incor

(d) both (a) & (c) above. [b) negative i
[45] Certain goods for which Quantity demanded decreases when Income [t) positive I
Increases are called [d) infinite ine
(a) superior goods 2nwhich of tr
(b) inferior goods slastic?
(c) prestige goods &) Good is |
(d) conspicuous goods () Time
[46] When price falls by 5% and demand increases by 6%, then elasticity of per
demand is ) Number
: ld) Al of th
(a) elastic (<
(b) inelastic

(c) unitary elastic
(d) zero.



mﬁa oamm_mwmmnnf of complementary goods is :
" (a) Positive
@ Negative

(c) Infinity
(d) None of these.

Rm_ Demand of i-pod increases from 950 to 980 and income increases from.
- 9,000 to 9,800. What is income elasticity?
(a) 0.53
(b) 0.35
(c) 0.43
(d) None.
[49] Contraction of demand results due to
(a) increase in price of goods
(b) decrease in no. of producers
(c) decrease in output of sellers
(d) decrease in price of goods.
[50] Bricks for houses is an example of which kind of demand?
(a) Composite
(b) Competitive
(c) Joint
(d) Derived.
[51] Normal goods have
(a) zero income elasticity
(b) negative income elasticity
(c) positive income elasticity
(d) infinite income elasticity
[52] In which of the following cases the demand for @ooaw tends to be less
elastic?
(a) Good is necessary
(b) Time period is shorter
(¢) Number of close substitutes is less
(d) All of the above

(b) _u:nm m_mm:% of
(c) Substitution elas % .
(d) None of these. : _
[54] If the price elasticity Ownm:ﬁaa zel
(a) Horizontal
(b) Vertical - * 8
(c) Sloping downwards
(d). None of these.
[55] If a 20% fall in price of a comm
demand, then the am_.am:a for the _35
(a) Inelastic :
(b) Elastic ~ . g7
(c) Highly elastic
(d) Perfectly elastic.
[56] Expansion and contraction in demand
(a) Change in income of buyer .
(b) Change in taste and preference of bu
(c) Change in price of the commodity
(d) Change in price of related goods.
[57] A fall in price of normal goods leads to:
(a) Shift in demand curve
(b) Fall in demand
(c) Arise in consumer's real income
(d) A fallin consumer's real income.
[58] A 10% increase in the price of tea results

demand for coffee. Cross elasticity of deman
(a) 0.80 o=< i

(b) 1.25
(c) 1.50
(d) 1.80.
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[58] When the total expenditure incurred by the consumers on a commaodity
due to & change is its price remains the same, then the elasticity of
demand for that commadity will ba:-

(a) Zero
{b) One
{c) More than one
(d) Less than one
[80] What will be the price elasticity if original price is T 5, original quantity is
8 units and changed price is T 6, changed quantity is 4 units:
(a) 25
{b) 2.0
(c) 1.5
{d) 1.0
{61] Original price of a commaodity is ¥ 500 and quantity demanded of that is
20 kgs. If the price rises to T 750 and the quantity demanded recuces 1o
15 kgs. The price elasticity of demand will be:
(a) 0.25
(b) 0.50
(c) 1.00
(d) 1.50
[62] The demand for factors of production is —
(a) fundamental demand
(b) derived demand
(c) market demand
(d) joint demand.
[63] Cross elasticity of demand between two perfect substitutes will be

[85] Price of Tiffin Boxis X 100 perunit and the quantity demanded in market
is 1.25.000 units. Company increased the price to 3125. Due 1o this
increase in price, quantity demanded decreases o 1,00,000 units. What
will be the price elasticity of demand ?

(@) 1.25
(b) 0.80
(c) 1.00
(d) None of the above.

[66] The price of a commodity decreases from 10 to 8 and the guantity 4 .oo
demanded of it increases from 25 to 30 units, then the coefficient of price @ ° .ﬁ amongst
elasticity will be —— ﬂaﬁjm_”oé of deman
o o ooy RS
© 15 0 PIAAY % (SR
(@ 1.5 0 O Py
[67] Which statement is true about the law of demand ? (d) (AP/D HM man 3
(a) Income rises, demand rises dmﬁqm.ﬁdﬂ line€s = ﬂw
(b) Price rises, demand rises elasticity coetficient £
(c) Price falls, demand falls (a) one
(d) Price falls, demand rises (b) infinity
[68] Which of the following is not a determinant of demand ? (c) zero

(d) more than one
j4|Changes in the quar
of same commodity
(a) change in dems

(@) Consumer's tastes and preferences
(b) Quality supplied of a commodity

(c) Income of the consumers

(d) Price of related goods

(@) Very high [69] A demand curve parallel to the Y-axis implies: (b) change in quar
(b) Very low (@) Ep=0 (¢) income deman
MMW MMME Mcw Mn - M (d) cross demand
: c) Ep< : _ ¢ ¢
[64] What is the elasticity between mid point and upper extreme point of a (d) Ep> 1 )| WMH&”HMWM mdm_.__._.
Qa_m”ﬁ _So continuous demand curve ? . [70] Generally, when income of consumer increases, he goesin for superior (@) price _

MNW M m_mu:m goods, leading to a fall in demand for inferior goods. It means, income (b) supply

e one elasticity of demand of superior goods______.  (¢) demand
(d) utility

(d) Less than one
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(@) less than 1

(b) unitary .
(2

(d) negative

4] If the quantity demanded of X commodity increases by 5% when the
price of Y commodity increases by 20%, the cross-price elasticity of
demand between X and Y commaodity will be:

(a) -0.25
(b) 0.25
(c) -4.00
(d) 4.00

72] Which amongst the followin
elasticity of demand using r
(a) (AQ/AP) x (P/Q)

(b) (AP/AQ) % (Q/P)
(c) (AQ/AP) x (Q/P)
(d) (AP/AQ) x (1/P)

73] Straight line demand curve at the point of meeting the x-axis will indicate
elasticity coefficient Equal to
(a) one
(b) infinity

(c) zero
(d) more than one
[74] Changes in the quantity demanded in re
of same commodity is called:
(a) change in demand
(b) change in quantity demanded
() income demand
(d) cross demand
[75] Other things being equal,
goodwill cause the
(a) price
(b) supply
(¢) demand
(d) utility

g is the right formula for calculating price
atio method?

sSponse to changes in the price

a fall in the price of th
of the other to rise.

] no:.._u_mﬁmjﬂmé

[76] A horizontal demand curve paraliel to >
demand is:
(a) zero , , .
(b) equal to unity %
(c) greater than unity -
d) infinite. 4 oM ZBIo T
[77] Aswzmj the price of a commodity .:oammmwquMnJMM“,@ ﬁm
decreases by 10%. The price elasticity of demand for tf TACE
(a) 0.8 _ e
(b) 0.9 %
(¢) 1.0 At
(d) 1.1 s e Sticityl ofdlaran
[78] Which one of the following is correct about the price elasticity of d
of a commodity?
(a) It remains same under all situations
(b) It has several degrees/nature ; ..
(c) It remains unaffected by the price of any other commodity
(d) Itis an immeasurable concept.
[79] The supply of a good refers to :
(a) Actual production of goods
(b) Total stock of goods
(c) Stock available for sale

(d) Amount of goods offered for sale
time

at a particular price per unit of
Increase or Decrease in Supply means:
(a) Shift in Supply curve

(b) Movement along same supply curve
(c) Both (a) and (b)

(d) Neither (a) or (b)

If supply curve is P
(a) Vertical

(b) Horizontal

(€) Upward sloping
(d) Downwarg sloping

[80]

[81] erfectly Inelastic, the. Supply curve is-




@
[88] Expansion in supply ref
to supply a:
(a) Larger quantity of the C
(b) Larger ncma_é of the oo

2 In e cos ) (c) Larger ncm.éé of the commod
e elasticity of supply, when price changes from Z 15t0 ¥ 12 (d) Larger quantity of the comm @ attn
change from 6 units to 5 units? [89] When supply is perfectly inelastic, elast
(@) +1
(b) O
) A
(d) Infinity
[90] If there is an improvement in the technology
(a) the supply curve shifts to the left
“ _mE__Q to Y axis (b) the supply curve shifts to the right
Downward sloping (c) quantity supplied increase
None of these ~ (d) Both (b) and (c)
He supply of a commodity is perfectly elastic, an increase indemand {911 I the price of apples rises from * 30 per KgtoX 40
i_ﬁ_ amc: in: supply increases from 240 Kg to 300 Kg. mﬁ%
(a) 0.75
(b) 0.67
au __zoa_mmm in equilibrium quantity, equilibrium price remaining - (c) 00.67
~ constant (d) 00.77 -
(d) Increase in equilibrium price, equilibrium quantity remaining  [92] A horizontal supply curve paraliel to the quan
st elasticity of supply is :
_ (@) Zero
(b) Infinite
(c) Equaltoone
(d) Greater than zero but less than one




R __umzz true
(d) None
ase or a.mo_.mmmm in supply means:
(a) Change in supply due to change in its own price
- (b) Change in supply due to change in factors other than its own price
(c) Both of above
(d) None of above
95] When Supply Curve shifts to the right there is in Supply.
- (a) anincrease
(b) expansion
(c) contraction
~ (d) decrease.
[96] Elasticity of supply is defined as responsiveness of quantity supplied
of a good to change in
(a) price of concerned good
(b) price of substitute good
(¢) demand
(d) none.
[97] The supply of the commodity implies?
: (a) Total Output during a specified period
(b) Its total stock
(c) Its stock available for sale
. (d) Its Quantity Offered for sale at a particular price per unit of time
[98] Supply of a commodity is a
(a) stock concept
(b) flow concept
: {c) both stock and flow concept
(d) whole sale concept

EQ The price of mang
kilogram and 9@
kilograms. What will be t
(a) —0.67
(b) +0.67
() —0.77
(d)y +0.77

[100] If a 20% fall in price brings about a
such a case elasticity of supply will

(d) 1.5 .
[101] At a price of X 25 per kg, the mcv_ue of a col
week. An increase in its price 10 :
" of the commodity to 12,000 kg per imox
be:
(a) 0.75
(b) 1.00
(c) 1.50
(d) 1.75
[102] Short run price is also called U< the name of
(a) market price
(b) showroom price
(c) maximum retail price
(d) none of these.
[103] If a 20% fall in the price brings about a 10% f
supplied, then the elasticity of supply will be @ﬂcn@
(a) 2.0
(b) 0.5
(c) 1.0
(d) 1.5 -
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[104] Elasticity of supply is greater than one when:
(a) Proportionate change in price is more than the proportionate
change in quantity supplied
(b) Proportionate change in quantity supplied is more than the
proportionate change in price

(c) Change in price and quantity supplied are equal
(d) All of the above
[105] Supply refers to which of the following?
(a) Total stock of the goods
(b) Stock of the goods available for sale
(c) Quantity of a good offered for sale at a particular price
(d) Quantity of a good actually sold.
[108] After reaching saturation point consumption of additional units of
commodity causes

(a) Total utility to fall and marginal utility to increase
{b) Total and marginal utility both to increase '
(c) Total utility to fall and marginal utility to become negative
(d) Total utility to become negative and marginal utility to fall.
[107] Elasticity of supply is greater than one when
(a) Proportionate change in price is greater than the proportionate
change in quantity supplied
(b) Proportionate change in quantity supplied is more than the
proportionate change in price
(c) Change In price and quantity supplied are equal
(d) All of the above.
[108] As the price of a commodity increases, normally, its supply:
(a) Decreases
(b) Remains unchanged
(c) Increases
(d) Cannot be determined.
[109] If equilibrium is present in @ market then it can be said that:
(a) The price of the product will tend to rise
(b) Quantity derianded equals quantity supplied
(c) Quantity demanded exceeds quantity supplied
(d) Quantity supplied exceeds quantity demanded.

concept.

[110] Supply is a
(2) flow
(b) stock
(c) flow and stock, both
(d) qualitative .

[111] Elasticity of supply is measured by dividing the percentage ¢
quantity supplied of a good by:

(a) Percentage change in income

(b) Percentage change in price

(c) Percentage change in quantity demanded of goods
(d) Percentage change in taste preferences.

[112] Increase in supply denotes a shift in the supply curve to the right. if
there is an increase in supply without change in demand, equilibrium
price will and the quantity demanded will go up.

(a) fall

(b) remain constant
(c) increase

(d) becomes zero.

[113] Which among the following is not a determinant of supply?
(a) Price of the commodity concerned
(b) Prices of the factors of production
(c) State of technology used in the production process
(d) Customs and the traditions in the society.

[114] When the price of the commodity increases from X 200 per unit 1o
¥ 250 per unit and consequently the quantity supplied rises from 1000
units to 1100 units. What will be the coefficient of elasticity of supply?
(a) 4.0
(b) 0.4
(c) 50
(d) 0.5

[115] The Supply Curve shifts to the right because of:
(a) Improved technology
(b) Increased price of factors of production
(c) Increased excise duty

(d) All of the above.
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he supply of a good refers to : ——T 1 &
" (a) Stock available for sale 80 | () | 81 | () |82 | (@ |8 | & | =
- (p) Total stock in the warehouse 86 | (b) | 87 | (o) | 88 | (© 89
© onm_ Eowcmﬂ._o: of the goods 92 | (@) | 93 | (d) [ 94 | (@) | 95
d) Quantity of the good off : § .
(d) iy g ered for sale at a particular price per unit o8 | @) | 99 | (b | 100 (d) | 101
{7 If asupply curve is perfectly inelastic, then the supply curve is 104 | (b) | 105 | (b) | 106 | (¢) | 107 :
(a) Parallel to x-axis = 110 | (b) | 111 | (@) | 112 (b) | 113 e o
(b) Parallel to y-axis | LTI T
(c) Downward to right 116 | @ [117| (@ :

(a) Downward to left

s : ,4
_ ANSWER !

%
i o ._:._
1l 2 |1®|3|@|4|@|5|w®]|s6|© ‘
7 l@ |8 |@]|9 |©@|10]®]|11|®]|12]® ok clbanie P : i
(3l@ |18 |© |15 (© |16 |@ |17 | (@@ | 18 | (D @w_?r in - o
19 | (b) | 20 | (&) | 21 { (@) {22 | (b) | 23 | (c) | 24 | (a) oloptic  ® 2 ) '
) |27 | ) |28 | (@) |29 | (¢) | 30 | (@) gl |
(@) | 33 | (d) |38 | (© |35 | () |36 | (b £
(c) | 39 | (c) | 40 | (c) | 41 | (d) | 42 (@) X
d) | 45 | (o) | 46 | (@) | 47 | (b) | 48 | (b) ;
@ | 51 | (© [52 | () |53 | (|54 | b
© | 57 | (© |58 |@|59|(|60] (@)
b) | 63 | (@) | 64 | (c) | 65 | (b) | 66 | (D)
) | 69 | (@ | 70 | (@) | 71 | (b) | 72 | (a)

by | 76 | (c) | 77 | (@) | 78 | (@) | 79 | (c)
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: w THEORY OF PRODUCTION AND COST

: PAST YEAR QUESTIONS AND ANSWERS . piis
Unit:1 Theory of Production @ ﬁm.%.”ﬁwiw
Marks of Objective, Short Notes, Distinguish Between, Descriptive & Practical Questions 2006 - NOVEMBER ﬁmwd OOSmwﬂm.ﬂ_n
Legend ) zoMz
m Ogmﬂamm Short Notes m Distinguish n Umwozuﬁmﬂ Practical M shows the overall output generated at a given level of input: r:a”_:mq@w:m.. pro
> S - (a) Cost function @ yerage pro
& S (b) Production function & p at its M2
RAZS (c) 1SO cost 7.:0 margina
5 === (d) Marginal rate of technical substitution (1 marky e creasin
Z= Answer: is N
. , == (b) Production function states the relationship between inputs and
== outputs generated.
mu 5 \P\ﬁ\w\ﬂﬁ\ [2] 1t LAC curve falls as output expands, this is due to
75 (@) law of diminishing returns  (b) economics of scale
m ] \\ﬁ)\ﬂr\Am (c) law of variable proportion  (d) dis-economics of scale (1 mark)
_ § Answer:
1 § (b) Inthe long run, when output expands total cost first increases, then
A\ﬂ.\\ﬁﬁ becomes constant and finally decreases.
0 R s A ben i When output expands, and cost curve falls it is the first stage of
R Dol A Exaringtions returns to scale which occurs due to economics of scale.
[3] Isoquants are equal to:
(a) Product Lines A
(b) Total utility lines 5] Increasing
(c) Costlines (@) Exter
For detailed analysis Login at Esae.mnm::m«&mmm.mm. com (d) Revenue lines (1 mark) (b) Exter
for registration and password see first page of this book. A aunrs (c) Exter
(a) An consist of altérnative combinations of input to produce agiven (@) Allo
quantity of output and product lines are lines representing various Answer
combinations of factors of production to produce a given output. (@) Incr
. 4.943

incr
o
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The marginal product curve is above the average product curve when

the average product is:

(@) Increasing

(b) Decreasing

(c) Constant

(d) None

Answer:

(a) Marginal product and average product are so related that when

~average product increases, MP increases at a faster rate and cuts

AP at its Maximum and when AP falls MP falls as a faster rate. So
the marginal product curve is above average product curve when AP

is increasing.

(1 mark)

Y
A

AP
> X

0 VP
Amount of
Variable Factor

[5] Increasing retums to scale can be explained in terms of:
(a) External and internal economies
(b) External and internal dis economies
(c) External sconomics and intemal dis economies
(d) All of these

Answer: |
(a) | noreasing retums toscale i.e. When outputincreases more than the

(1 mark)

1
increase in input. It occurs due to external and internal economics.

2007 - MAY

8

[6] Anisoquant 6:27 SIS
(a) convex
(c) tangent
Answer: .
(c) An iso cost is tangent to an IsC
defines the equilibrium posttion
an unalternable point and a
resources. Hence an isoqua
equilibrium position.
[7] Atthe point of inflexion, the margi
(a) Increasing A
(c) Maximum
Answer:
(c) Point of inflexion is a point in
proportion i.e. When MP become
of TP changes.




(1 mari)

ing offier things constant wien marginal oost Naoezses Wi 2
il increase in varieble faciors, the margingl product
declines. This is the second stzqe of zw of variatle propornon o hs

L_.” M .m!l-..‘% product of labour is below the average product of lzbour.

W must be true that:

(a) Marginal product of labour is negative
~ (b) Marginal product of labour is zero
 (¢) Average product of lzbour is falling

(@) Average product of labour is negative
(c) Same as Ans. 4

(1 mark)

of variable proportion is valid when:

y one input is fixed and all other inputs are kept variable
factors are kep!t constant

inputs are varied in the same proportion
of these (1 mark)
fvariable proportion o_on:q.m in short run. Short run is a period
d when only one input is fixed and all other inputs are kept

e ————

(12] Increase in 2l input leading to less than proportional ncrease inoutput G

(13] Consider the following combinations of inputs and outputs:

Answer: .
(3) Margra revenue may be defined 25 an addiion made o he totl S
revene oy seling one more unit of 2 commodty. K is te
incremental change in tota! revenue. _

MA.=TR . -TH_,

e called e -

(a) increasing retume to scale
(o) decreasing returns to scaie
(c) constant returmns to scale

(d) botn increasing and decreasing retums to scale (1 mark) ©
Answer: _
(b) Decreasing returns to scale is the stage when the increase in

output is less than the increase in input, this occurs due intemal
and external diseconomies.

This production technology satisfies
Labour Capital Output

5 10

12
14
16
18
20

M

o b=

6
7
8
9
10
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(@ |ncreasing retumns to scale
(b) Diminishing returns to scale
(c) Constant returns to scale

(d) Increasing returns initially, following by decreasing returns to scale.
(1 mark)
Answer:

() In the .m.Em: production technology the increase in input is
proportionate to the increase in output.

With ma increase of every 1 unit of labour and 2 units of capital
the output increases by 1 unit.

ImJom. it is the case of constant returns to scale as both fixed
and variable factors are changing (all factors are variable).

2008 - JUNE

14) During 11" stage of law of Diminishing returns:
(@) MP and TP is maximum  (b) MP and AP are decreasing
(c) AP is negative

(d) TP is negative (1 mark)
Answer: 2

(b) During the second stage of Law of Diminishing Returns (i.e. Law
of Variable Proportion) both MP and AP are decreasing because
at this stage the optimum combination between fixed and variable

factors have been attained and now if the input is increased, output
starts decreasing. At this stage

, total product increases at a
diminishing rate i.e. MP and AP decreases.
[15] Consider the following table:

Labour Total Output

Marginal Product
0
1 ¢ » 00 100
2 : 80
_ 3 240

[4.950 | m [Solued scam

(a) 80

(b) 100
(c) 180
(d) 200
Answer:

(c) When 1 unit of labour is emp oye
unit of labour is employed MP = 80

product is 80.

Total product when 2 labours are err

TP2 = 80+100 =180.
[16] Who has given the concept of In
(a) Robbins

(b) Adam Smith
(c) Schumpeter
(d) Sweezy
Answer:

(c) The concept of Innovative Entrep

Schumpeter.

2008 - DECEMBER

171 AT 10 units

Total Cost —
20 units Total Cost —
Marginal Cost = ?

(a) 50

(c) 30
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(b) Given Original total cost =3 200
Original quantity produced =10 units
New total cost =3 600
New quantity produced = 20 units
Marginal cost is the addition made to the total cost by production
of an additional unit of output:
Additional Cost =3 600 -3 200
=< 400
Additional quantity produced =20 units - 10 units
=10 units ;
M.C = il
- 2
= N AO

{18] Average Fixed Cost=320

Quantity Produced = 10 units

What will be the Average Fixed Cost of 20™ unit?
(@ T 10

(b) 20

(c) 5

(d) None

Answer:

{a) Average fixed cost (AFC) is the total fixed cost divided by the

number of units produced i.e. AFC = TFC

(1 mark)

Q
Where Q is the number of units produced

=3 20 x 10 units
=3 200

10 units
0

20
=310 d
| Since AFC steadily falls as output increases hence for 20th unit AFC
10.

[T2.952 | m [solved scanmer CA Foundation Paper - 4A (New Syllabus)

[19] What is Production in Economics:
(a) Creation / Addition of Utility

(b) Production of food grains

(c) Creation of services

(d) Manufacturing of goods

Answer:

(@) In Economics, by production we mean the process by which man
utilizes or converts the resources of nature, working upon them so
as to make them satisfy human wants. The satisfying power of
goods and services is called utility. Hence we can conclude that,
production can also be defined as creation or addition of utility.

[20] External Economies of Scale are obtained by: g

. : ion

(a) afirm (b) a group of firm U __J.:o“m.._.ﬁm retu

() Small Production (d) Society (1 mark) ol O o indu

Answer: ﬁ _..Eu:*mo e

(b) External Economics of scale accrue to firms as a result of w»%ncscq b)
expansion in the output of whole industry and they are not g Neither (@) :m.__.., A
dependant on the output level of individual firms. They are extemal ﬂz& economic activity
in the sense they accrue to firms not because of their internal swer: ! _
situation but from outside i.e. expansion of the industry. g Law of diminishing rett

production are wnﬁa
E aventually declines.
some point or other.
[21] It a firm's output is zero, then:
(@) AFC will be positive
(c) Both of (a) and (b)
Answer:
(c) Average fixed cost may be expressed as:
Fixed cost divided by the number of units. When the firm's
output is zero, average fixed cost is positive as fixed cost is * 1@
incurred even if no units are produced. benefit
Average variable cost may be expressed as variable cost per I _
unit produced. When the firms output is zero, there will be no 8iLabour is one of the fack
variable cost hence average variable cost will be zero. 2 choice between O

3«8 prefers to have m

(b) AVC will be zero
(d) None of (a) and (b)

(1 mark) 1.§m:mmm :

“,,__?528 wants more
facility

=4
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y Funclions of the entrepreneur are:
{g) Riskbeanng
) Initiating a business enterprise and resource co-ordinating

{c) ‘Introducing new innovations

{d) All of the above

Answer:

{d) Entrepreneur has also been called the organiser, the manager or
risk taker. The task of entrepreneur is to initiate production work
and to bear the risk involved. An entreprencur performs the
following functions:

(i) Initizting 2 business enterprise and resource co-ordination
(i) Risk bearing or uncertainty bearing.
() Innovation
23] Law of diminishing retums is applicable in:
(a) Manutacturing industry
{b) Agriculture
(c) Neither () nor (b)
{d) Any economic activity at a point of time.
Answer:

(1 mark)

(d) Law of diminishing retums states that as more and more factors of
production are employed, the total production first increases then
eventually declines. This law applies to all economic activities at

some point or other.

. [24] Labour force wants more :

.~ (a) facility (b) leisure
: (©) benefit (d) all of the above

(1 mark)

(1 mark)

v _buo:_. is one of the factors of production. A labourer has to make
a choice pbetween hours of labour and hours of leisure. Labour
.E&m prefers to have more of rest and leisure than eamning money.

{25] Production mﬂé!aﬁ@gg
(a) mmasmsmoa@

(c) Shortrunisatime period wi
are variable. Law of §=mu?
Therefore, in short run Proau

[26] Increasing returns to scale occurs au
(a) Economies of scale (D) S
(©) Indivisibility of factors (d) -

Answer:
(d) Increasing retums to scale occurs

tnan the increase in input. This 0CCUrS ¢
also it occurs due to indivisibility of

. also increase because of greater pa
land and machinery.

2010 - JuNE

[27] Law of diminishing retums is m%u_m in _
(@) only manufacturing 5&555
(b) only agriculture.
(c) neither in agriculture nor in industries. .
(d) in all economic activities after a limit. ooy -
Answer: =
(d) Law of diminishing retumns states that mmBQ,w
production are employed, the total product ir
eventually declines. This law applies to aliec
a limit.
[28] Law of increasing returns is muﬂ_omg@ DE
(a) indivisibility of factors. @ ]
(c) economies of scale.
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Answer:
(d) The two causes of Law of Increasing Retums are:
(A) Indivisibility of Factors.
(8) Division of Labour and spacialization,
i Hence both options A and B are correct.
[29] When output decreases by 20% due to Increase (n inputs by 20%, this
stage (s called the law of :
(@) increasing returns to scale. (b) decreasing returns o scale.
(¢) constant returns to scale.  (d) none of the above. (1 mark)
Answer:
(d) Law of constant returns states that with increase in input the output
also increases in the same proportion.

Howaver in the given question the output is decreasing by 20%
due to Increase in input by 20%. This is not the case of Constant
Returns to scale. This is neither the case of Increasing returns 1o
scale nor Decreasing returns to scale hence the answer would be
none of the above.

| 2010 - DECEMBER

[80] In the first stage of law of variable proportions, total product increases

- atthe N

(@) decreasing rate

(c) constant rate

Answer:

(b) The law of Variable Proportion states that as we increase the
quantity of one input which is combined with other fixed inputs, the

- MP of variable input eventually declines. It is divided into three

stages (laws) are:

(i) Law of increasing returns

(i) Law of decreasing returns

(b) Increasing rate

(d) both aand b. (1 mark)

(31] What will be the total product when two

[32] Which function shows relationship between input and ou

to the table given Below?

No. of labourers  Total product | L

O — ol T

1 350 350

2 - 230 ¥
(a) 680 (b) 580
() 350 (d) 230
Answer: g he= o i
(b) TP, = TP, + MP, o ——r

= 350 + 230 v I

= 580

(b) Investment function
(d) Cost function

(a) Consumption function
(¢) Production function
Answer: )
(c) Production function states the relationship between ir
output i.e. the maximum amount of output that can be
with given quantities of inputs under a given state of tech
knowledge. . |

"

2011 - JUuNE S

[33] External economics are enjoyed: :
(a) By large producers only  (b) As firm expands
(c) Both (a) and (b) (d) None of above.
Answer:
(c) External economics are those economics which accrue
a result of expansion in the output of whole in
not dependent on the output level of individual
economics are enjoyed by large producers.
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34] The Law of Diminishing Returns is applicable in -
. (@ only manufacturing industries

(b) only Agriculture

(c) neither in Agriculture nor in industries

(d) all Economic activities after a point.

Answer:

(d) Law of diminishing returns occurs in the short run and states that
as more and more units of variable factor are employed to a fixed
factor total product first increases and then eventually declines.

This law occurs on all economic activities after a point of time
pecause after reaching an optimum combination the factors
become over utilized and lead to lesser production.

[35] The concept of Returnsto Scale is related with:
(a) Very short period (b) Short period
(c) Long period (d) None of above.

Answer:
(c) LongRun refers to the time period when all the factors change and

no factor is fixed.
When all inpuis are changed in the same proportion, it leads to a
changein scale. Therefore, returns 10 scale occurs in the long run.
[36} The function of an entrepreneur is:

(a) Initiating an enterprise and resource coordination

(b) Risk bearing .

() introducing innovations

(d) Al of the above.

Answer: . .
(d) An entrepreneur is a Derson who combines all factors of

production, bears risk and initiates the process of production. An
entrepreneur performs the following functions:

(a) nitiating @ business and resource coordination

(o) Risk bearing and uncertainty bearing

(c) Taking innovations

-y W

(1 mark)

(1 mark)

(1 mark)

2012 - DECEMBER |

[37] Which of the following is not a nﬁﬁ%ﬁﬁ

(38]

(39] Production activity in the short period is analysed with the h

(a) Itis afree gift of nature )
(b) Itis a mobile factor of production

(c) Itis limited in quantity g
E_aﬁaacoﬁguoim_. ﬂmwnammﬁcnwg.

Answer: K
(b) Factor of production should have followin

called a land : i _
1. ltis a free gift of nature sy
2 |tis strictly limited in quantity R
3. Itis indestructible ; -

4. It cannot be shifted from one place to another.
5. ltis a specific factor of production

A production function is defined as the relationst n__-

(a) the quantity of physical inputs and physical output of &

(b) stock of inputs and stock of output |

(c) prices of inputs and output

(d) price and supply of a firm.

Answer: .

(a) Production function states the relationship b
output i.e. the maximum amount of output t at can be
with given quantities of inputs under a given state ¢

knowledge.

ol

(a) Law of variable proportion (b) Laws of returns
(c) Both (a) & (b) (d) None of the
Answer:
(a) Production function states the relationship
outputs. ‘The production activity can be in short
“Short period is that period of time which is
install a new capital equipment to increase proc
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142]

S =
- -
- 401 Which of the following is the reason of the working of law of increasing
@) Fuller utilisation of fixed factors
{b) Indivisibility of the factors
(c) Greater specialization of labour
(d) Al of the above.
{d) The causes of law of increasing return are:
— Indivisibility of factors.
— Division of Iabour and specialisation.
When variable factor is increased, fuller utilisation of fixed
factor becomes possible and it results in increasing return.
Hence, all of the above are the reasons of working of law of
increasing return.
[41] External economies can be achieved through:
{a) Foreign trade only
{b) Superior managerial skill
{c) Extension of transport and credit facilities
d) External assistance.

@

1

(1 mark)

(1 mark) [
‘External economies of scale are those which accrue to firms as a
result of expansion in the output of whole industry. These are
‘available to one or more of the firm in the form of —
Cheaper raw materials and capital equipment

._.m%:owo@_om. external economies

@mc&ovama of skilled labour
! th of ancillary industries
m@ﬂmq nqm:wuo:m:o: m:a marketing *mﬁ__.zmm ‘Thus, external

2013 - DECEMBER

{43] Innovation theory of entrepreneurship is propounded by: |

External Economies arise due oo
(a) Growth of ancillary industries
(b) High costof technologies
(c) Increase in the price of factors of production
(d) None of the above.
Answer:
(a) External economies arises due to §q§
{i) Cheaper raw materials and capital equipment
(i) Technological external economies
(ni) Development of skilled labour
(iv) Growth of ancillary industries
(v) Better transportation and marketing facilities.

(a) Knight (b) Schumpeter

{c) Max Weber (d) Peter Drucker

Answer:

(b) The concept of innovative Entrepreneurship was propo
Schumpeter. N

441 Production function is:
(a) Purely a technical relationship between input & output
(b) Purely an economic qm_mao:wsﬁ between .2...5 & o:ﬁ&

output

(d) None of the above.

Answer:

(a) Production function states the relationship between
output i.e. the maximum amount of output that can b
with given quantities of inpuls under a given state
knowledge.

Thus, production function is purely a technic
between input & output.
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5] The concept of retumns 1o scale is related with:
(2) very short period (b) short period
{c) long period (d) none of the above.
Answer:
(c) Long Run refers to the time period when all the factors change and
no ,«mnﬂ_. is fixed, when all inputs are changed in the same
proportion, it leads to a change in scale. Therefore, retumsto scale
occurs in the long run.
Thus, option (c) is correct.
[46] In Cobb-Douglas production function, two inputs are:

(a) Land and Labour (b) Labour and Capital

(c) Capital and Entrepreneur (d) Entrepreneur and land (1 mark)

Answer:

(b) Cobb-Douglas Production function applies not to an individual firm
but to the whole of manufacturing. in this case, output is
manufacturing production and inputs used are labour and capital.

]

[47] Which one of the following is not a characteristic of land?

(@) Afree gift of nature }

(b) Its supply is fixed ,

(c) An active factor of production

(d) lthas different uses.

Answer:

(c) Asa theoretical concept,
(1) Landis Nature’s gift.
(2) Supply of land is fixed.
(8) Ithas indestructible powers.
(4) Itis a passive factor.

(1 mark)

land has the following characteristics:

(5) Ithas different uses.
Hence, land is not an active factor of production, thus option (c) is

the correct answer.

(1 mark)

[48] An Entrepreneur unde

[49]

2014 - DECEMBER

(50] Linear homogeneous production function is bz

(@) Initiating 2 Ucmaﬁmmmuﬁ >SOuUrce «
(b) Risk or uncertainty beanng "
(c) Innovations :
(d) All of the above.
Answer:
(d) An entrepreneur performs the T
(1) Initiating @ pbusiness ente
(2) Risk pearing/uncertainty
(3) Innovations.
Hence, option (d) i.e. all of the above is
With a view to increase his production,
shoes, increases all the factors of produ
atthe end of the year, he finds that instead of &
production has increased by only 80%. Which '
is operating in this case?
(a) Increasing returns to scale
(c) Constant returns 10 scale
Answer: .
(b) When output increases in a smaller propor
all inputs, decreasing returns to scale are said t
case, inputs are increased by 100% in co
which are increased by 80%. SRR
Hence, option (b) is correct. :

(b) Decreasin
(d) None of t

(a) Increasing returns to scale (b) Decreasing r
(c) Constant returns to scale (d) None of the above
Answer: n
(¢) Linear homogeneous production function
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L

(51]

[52]

[53]

Which of the following statement is true in relation to an 1ISO-Quant
Curve?

(a) It represents those combinations of two factors of production that
will give the same level of output

(b) It represents those combinations of all the factors that will give the
same level of output

(c) It slopes upward to the right
(d) It can touch either axis.

(1 mark)
Answer:

(a) An iso-guant represents all those combinations of two factors of

production which are capable of producing the same level of output.
Production is defined as:

(@) Creation of matter

(b) Creation of utility in matter

(c) Creation of infrastructural facilities
(d) None of the above.

Answer:

(b) By production we mean that process by which man utilises or

converts the resources of nature, working upon them so as to
make them satisfy human wants.

Long period production function is related to:
(a) Law of variable proportions

(b) Laws of returns to scale

(c) Law of diminishing returns

(d) None of the above.

Answer:

(b) Long period production function is related to law of returns to scale
which relate to the long-period production function by changing one
or more of its factors.Long period production function is related to
law of returns to scale which relate to the long-period production
function by changing one or more of its factors.

(1 mark)

(1 mark)

2015 - DECEMBER

[54] The conclusion drawn from Cobb-Douglas production function is that

labour contributed about and capital about oftheincrease
in the manufacturing production.

3 n 11
(a) a7 (b) 5'D

4
A
(c) T (d) None of the above. (1 mark)
Answer:
(a) Cobb-Douglas production function states that labour contributed
3 1

about NE and capital about Nﬁ: of the increase in the

manufacturing production Q = KL* C"#

Where 'Q’ is output, ‘L' the quantity of labour, ‘C' the Quantity
of capital, ‘K’ and ‘a’ are positive constants.

2016 - JUNE

[55] ISO quants are also known as:

(a) Production possibility curves
(b) Indifference curves

(c) Production indifference curves
(d) None of the above.

(1 mark
Answer:

(c) ISO quants are also known as production indifference curves. The
show all those combinations of different factors of production whit
gives the same output to the producer. ISO quants are similar
indifference curves of the theory of consumer behaviour.

4
1
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Human capital refers to:
(@) Savings by individuals

: (b) Mobilisation of savi
(c) Human skills and abilities it

(d) Productive investment.

Answer: imars)

(¢) Human capital refers to human skill and ability. This is called
_..E.:m: capital because a good deal of investment has gone into
creation of these abilities in human.

The Law of Variable Proportions is associated with:

(a) Short period

(b) Long period

(c) Both short and long periods

(d) Neither short nor long period.

Answer:

(1 mark)

* (a) The law of variable proportions examines the production function

[58]

with one factor variable, keeping quantities of other factor fixed.
This law operates in the short run when all the factors of production
cannot be increased or decreased simultaneously. In other words,
it refers to input-output relationship.

Which one of the following statements is not correct?

(@) Land has indestructible powers

(b) Labour is mobile

(c) Capital is nature’s gift

(d) Land is a passive facior. (1 mark)
Answer:
(c) Capital has been rightly defined as ‘produced means of

production’. If has been produced by man by working with nature.
Therefore, capital may well be defined as man made instruments
of production. Example: machine, tools, instruments, factories efc.

2016 - DECEMBER

[59] Which of the following IS not a characteristic of labour?

[60]

[61]

[62]

(a) It is perishable

(b) It has weak bargaining power

(c) Labour and Labour power cannot be seperated

(d) Labour is not mobile

Answer:

(d) Labour is not mobile. This is not a characteristic of labour. Labour
ts mobile.

Which among the following is not a characteristic of Land?

(a) Itis an active factor

(b) It has variety of uses

(c) lts production powers are indestructible

(d) Its supply is limited

Answer:

(a) Land is a passive factor of production. it is not a active factor..

When average product rises as a result of an increase in the quantity

of variable factor, marginal produgt is:

(@) Equal to average product (b) More than average product

(c) Less than average product (d) Becomes negative (1 mark)

Answer:

(b) When average product rises as a result of an increase in the
quantity of variable factor, marginal product is more than average
product.

Suppose the first four units of a variable input generate corresponding

total output of 150, 200, 350, 550. What will be the marginal product of
the third unit of input?

(1 mark)

(1 mark)

(a) 50 (b) 100
(c) 150 (d) 200 (1 mark)
Answer:
(d) Marginal product of the third unit of input
= TPy~ 1Ps
= 550 - 350

= 200
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~ [68] The famous Cobb-Douglas production function is based on studies of

industries in the United States of America.
(a) manufacturing

(c) consumer

(b) construction
(d) aviation. (1 mark)

(@) A famous statistical production function is Cobb-Douglas

production function. Paul H. Douglas and C.W. Cobb of the U.S.A.

mEnmomL_ the u._dn_.._.o,.mo: function of the American manutacturing
industries. In its original form, this production function applies not

to an individual firm but to the whole of manufacturing in the United
States. Thus, option (a) is correct.

In Economics, entire process of __ i nothing but creation of
utilities in the form of goods and services.

(a) consumption

(c) exchange
Answer:

(b) production

(d) distribution. (1 mark)

(b) Production is nothing but the creation of utilities in the form of

goods and services. For example, in the production of a woolen
suit, utility is created in some form or the other. Firstly wool is
changed into woolen cloth at the spinning and weaving mill (utility
created by changing the form) then it is taken to a place where it
is to be sold (utility added by transpciting it). Since woolen clothes
are used only in winter, it will be retained until such time when then
they are required by purchasers(time utility). In the whole process
services of various groups of people are utilized (as that of mill
workers, shopkeepers, agents etc.) to contribute to the
enhancement of utility. Thus, the entire process of production is

nothing but creation of form utility, place utility,

time utility and/or
personal utility.

RSy
[65] Cobb Douglas function is given by Q@ = KL*C*

(@) If =+ B > 1, increasing returns Bt 3

(b) If = + B > 1, increasing retumns to scale

(c) if = + B <1, diminishing returns

(d) if = + B = 1, decreasing returns to scale.

Answer:

(b) Cobb-Douglas function is given by Paul H. Dou
of US.A. studied the production of ric
industries. They describe that output is manufactur
labour and capital. It is given by Q = K L*

increasing return to scale.
[66] Production is defined as:

(@) Creation of matter
(b) Creation of utility in matter
(c) Creation of infrastructural facilities

(d) None of the above.
Answer:

(b) Man cannot create matter. Man can create only :E
Production should not be taken as creation of matter but
as creation of utility in matter.

For Example: When man produces a table, he does not ¢
matter of which the wood is composed of. He only trar : =
into chair and utility to wood which did not have utility t + vl
[67] The conclusion drown from Cobb Douglas production funct

-

labour contributed about ______and capital about of
in the manufacturing production.
ﬁmv ﬁ “-m;..

4’ 4

AE .__.5
B ==
©) e 2



____m*_ﬁo__mqaxo.

(1 mark)
ﬁﬁ.ﬂﬂ?owcm_mm function g below: *

X 4 ¥ n -

Wﬂ%:ﬂrm.ia that labour progyces 2nd capital produces 1/4
the increase in :..m:c*mo.n:::m.vqoaco:o: =5

[88] Atthe point of inflexion, e marginal product is:

¢ (@) Increasing

(b) Decreasing

& Maximum (1 mark)

(d) Negative

: er: .

ﬂ.....a“%.:" of inflexion ig A point where Marginal producy is at Bm.x.Bm_B.

First margina Product utility iNncrease then reach atmaximum Points
Which is point of inflexion and then decrease. Marginal Product can
be negative.

.,_mauu_iwan:m:a%m are equal to:

. (a) Product lines

~ (b) Total utility lingg

(o) Cost lines

(dy Revenue lines (1 mark)

Answey:

(a) Isoquantg are similar 1o 'Ndifference CUrves of theory uf Consumer
behavigyr. An 1S0quants "epresents all those oo_.:.om:m:o:m Which
are Capable of Qoa:om:@ Same level of Output, quacozo:
Sa_z_w«msoa Curve ig another, Name of ISOquantg as jt qmuammaw
Product lines.

[70) .:_g.ammm_._m 'eWMs to soqle can be eXplaineq ip terms of
(@) Externg) and interng, €conomics
() Externga| and interng) a_maoo:oa_mm
~ (©) Externg SConomieg g

| (1 Maris
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2006 - NOVEMBER

[1] Opportunity cost is:
(a) Direct cost
(b) Total cost
(c) Accounting cost
(d) Cost of foregone opportunity
Answer:

(1 mark)

(d) Opportunity cost is the cost of the next best alternative forgone. it's

the cost of foregone opportunity.
[2] As output increases, average fixed cost:
(a) Remains constant
(b) Starts falling
(c) Startrising

(d) None
Answer:
(b) Average fixed cost is expressed as :
AEC=— Fixed Cost
No. of units produced

Fixed cost always remains fixed. It

(1 mark)

does not increase with an

increase in output. So the average fixed cost falls as more and more
units are produced as the fixed cost remains the same.
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= [Chapter = 3.2] Theory of Cost|m [4973 ] [4974 |m [solved scann , i
| Average :x._m..,_m_ﬁ cost can be obtained through : ”:mim b . ._._u.ﬁ.ml
arc- EC 20 = IFC
(b) =5 6
Afc. TC So Total fixed cost = 20x 6
(©) BC =% 120. :
i its of outpu
(d) AFC = TFC (1 mark) So Average Fixed Cost of 4 units (o]
*u AFC= __TFC
Answer: No. of units
: — __Total Fixed Cost 120
(d) Average fixed cost = = AROOSL ARG = Tl 30
75.&55?.0968 4
H__nmmq.m‘_wocmmzoq_ ’ (6] U-shaped average cost curve is based on-
- m._.%mﬂwmwmmvnw%wwoﬂ (8) Law of increasing cost
TU = Total ng. of units Produced ) taer amoqmmm.jﬂ Ra
i () Law of constant returns to scale
(d) Law of variable Proportions
2007 - FEBRUARY Answer:

[41 AFC curve is -
(@) Convex g g

18] A firmy

it be at 4
(b) 39

() 240
(d) 229




“(1 mark)

verag ”.”..__8@” and marginal cost are so related that when average
g - naﬂﬂmum. MC falis at m*mmﬁm:mﬂm.éjo: AC rises, MC cuts AC at its

- So i:g AC curve is upward MC must be rising.
E, If total cost at 10 units is T 600 and T 640 for 11th unit. The marginal cost
= of 11th unit is :
R 20
S L) T30
m& F 40

(d) T50 (1 mark)

ginal Cost,=TC,-TC, _,

: =TC;, = TC;: 4

- 3 =640 - 600

Loty =340

3 . Marginal cost of 11th unit is T 40.

imic cost exciudes which of the following :
counting cost + explicit cost

E >n8§u=m cost + implicit cost

5 m% cost + Impilicit cost
cost + opportunity cost

(1 mark)

ic cost take into account accounting (explicit) cost and in
% to this it also includes amount of money the entrepreneur
ﬁxﬁ have earned if he had invested his money and sold his
m:n_ other factors in the next best alternative use.

| 2007 - AucusT

[10] Which of the following cost ct

(a) Average total cost curve
(b) Marginal cost curve

(c) Total cost curve 3
(d) Total Fixed cost curve 37 5 T
Answer: ,

production total increases. _ua__ﬁa _

increase or decrease in production.
of factory, electricity charges, etc. Si
constant so the fixed cost curve is not \
line.

Y

(0]

[11] Suppose, ihe total cost of production of com
of this cost implicit cost is Z 35,000 and nor
will be the explicit cost of commodity X2

(a) 90,000
(b) 65,000
(c) 60,000
(d) 1,00,000
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Answer:
(b) Total cost =% 1,25,000
Implicit cost =3 35,000
Normal profit = ¥ 25 000
Explicit cost = ?
Total cost = Explicit Cost + Implici i
s plicit Cost + Normal Profit
1,25,000 = Explicit Cost + 35,000 + 25,000
Explicit Cost =% 65,000
[12] What is the total cost of production of 20 units, if fixed cost is Z 5.000
_.and variable cost is T2/-? :
(a) 5,400
(b) 5.040
(c) 4,960
(d) 5,020 (1 mark)
Answer:
(b) Total Cost = Fixed Cost + Variable Cost
5,000 + 20 x 2.
=3 5,040

2007 - NOVEMBER __

[13] Exiernal economies accrue due to
(2) increasing retumns to scale
(b) increasing returns to factor
(c) law of variable proportion
(d) low cost (1 mark)
Answer:

(@) External economics accrue to firms as a result of expansion of

output of whole industry. Increasing returns to scale occurs due to
external economies.

[ 4.978 |® [solwed Scanner CA Foundation Paper - 4A (New Syllabu:

{14] At which point does the marginal cost curve intersect the average
variable cost curve and short run average total cost curve?
(a) At equilibrium points
(b) At their lowest points

c) At their optimum points

Maw They don’t intersect at all (1 mark)

Answer:

(b) Marginal cost curve and average cost curve have a ﬁmnamﬂow. that
when AG curve falls, MC curve falls faster when AC curve rises MC
curve rises on a faster rate and MC curve cuts the AC curve at its
minimum (lowest point).

Y
A M

@)

b9

[15] Implicit cost may be defined as the:
(a) Costs which do not change over a period of time
{b) Costs which the firm incurs but doesn’t disclose
(c) Payment to the non-owners of the firm for the resources
(d) Money payment which the self employed resources could have

earned in their best alternative employment (1 mark)
Answer:
(d) Implicit cost is the cost of self employed resources. ¥
” It is the cost of inputs owned by the firms and used by the firm

in its own production process.
Implicit cost includes:

(a) return on money invested by the entrepreneur in its own
business

(b) rent of self owned building of the entrepreneur .
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[16] Afirm’s average fixed cost is T 40 at 12 units. What will be the average

171

[18]

fixed cost at 8 units:
{a) T 60
(b) 270
{c) T90
(d) T80
Answer:
TC

(a) AFC = i%|
TFC

12
TFC =40 x 12 =3 480
Average fixed cost of 8 units:
TFC 480

AFC = Mo, of it prodioed 5 =3 60.
Returns to scale will said to be in operation when quantity of :
(@) All inputs are changed
{(b) All inputs are changed in already established proportion
(c) All inputs are not changed
(d) One input is changed while quantity of all other inputs remain the

same (1 mark)
Answer:

(b) Returns to scale comes into operation when all inputs whether
fixed or variable are changed in same proportion i.e. the scale of
production changes.

Which of the following curves never touch any axis but is downward?

(a) Marginal cost curve

(b) Total cost curve

(c) Average fixed cost curve

(d) Average variable cost curve

(1 mark)

(1 mark)

Answer:
(c) Average fixed cost curve never touches any axes but it slopes
downward. Average fixgd costcan never be zero even ifthereisng
production so it can never touch any axes. AFC falls when output
increases as fixed cost is always fixed. Hence, the curve i
downward sloping.
[19] Which of the following is known as Envelope curve?
(a) MC curve
(b) AFC curve
(c) LAC curve
(d) TFC curve
Answer:

(c) Long run average cost curve is called enveloping curve as it
envelops all short run average cost curves (SAC curves are

tangent to LAC curve)
Y

¥

SAG, SAG

0 X

2008 - JuNE

(1 mark)

; [20] A firm producing 7 units of output has an average total cost of X 150
and has to pay % 350 to its fixed factors of production. How much of the

average total cost is made up of variable cost?

T.F
Av



22} ggga»&f
Units Total Cost @)
2

20
4 P
Total cost of 7 unit (@) 140
Fixed Cost = 2355 >0 * 7 = 1050 (b) 120
Total cost = Fixeq ; © 50 \
1050 = 350 4 <..wo .Oomﬁ + Variaple Cost ﬁ.w 40 .
: . nswer: -
So variable %0t of 7 units = 1059 350 =3 70 {8) Letthe total cost of producing 4 units &
Average variable cogt of 7 units = @ =210 Marginal Cost = 54&.—
| Afirm’s average fixeq Cost i - .
| 3 units of output? S¥20ats units of outpyt What will it be at - xﬂm‘.lwu
(@) T60 _x-%
(b) T 30 | =1
(c) T40
220 (1 mark) b
Answer: : =3 140 i
_ : TG 23 OUTPUT(Units)  TOTALCOSTY
(¢) Average fixed cost = : Q N
No. of units _
3 0 &
TF.C.=20x6=%120. 0 o Find Average Fixed Cost of 3 units :
Average fixed cost of 3 units of output = P =X AQ. (@) 10 3 ¥
i (b) 30 |
(€) 85

(d) &0



:Bm;o
) run is a period of time during which the firm can vary all its
unlike short run in which some inputs are fixed and other

riable. In other words, in short run the firm is tied with a given
. _o:m run the firm moves from one plant to another, so

(1 mark)

cost remains fixed irrespective of number of units produced
ﬁg average fixed cost keeps on decreasing as more and

:53 units are produced. Due to this, the average fixed cost curve
~ alwa S siopes downward throughout its length and it is not of U

units:
QUTPUT :
Total cost:

(a) T 40

(b) ¥ 20

(c) T 200

(d) T 400

Answer:

[26] From the following details, find out the

0

10
3200

X 400

(b) Variable cost per unit =

= % =% 20 per unit

Variable cost of 10 units =% 20 x 10 =% 200

Therefore, average variable cost = alw..k% =20
[27] The total cost incurred for 10 units is a 400 w:n__
the marginal cost.

(@) 400
(b) Y40
(c) X200
(d) Y20




be expressed as -
= in units \

=T 40 per unit.
2009 - DECEMBER AFC = - -
| AFC of 3 units = 320 =% 10. |
%) Which one of the following is correct? 3 ;
(@) AFC=AVC + ATC [30] Find AFC of 3 units © &
(b) ATC = AFC - AVC Unit 0 e
(c) AVC = AFC + ATC Total Cost 15 _
(d) AFC = ATC - AVC. K (@) 5
Answer: (1 mark) (b) 10
(d) ._..Qm_ cost of a business is the sum of total variable cost and total (eI : N
fixed cost. Symbolically, TC = TFC + TVC. Similarly, average total ﬁMu mw_wm..
cost is a sum of average variable cost and avera e fixed cost i.e. NS ; g ective of th
ATC = AFC + AVC. This formula can also be mx%.mmwma as: () Fixed cost remains sams. ifeSEECIEEE
AFC = ATC — AVC : In the given case, fixed cost =% ...m AN
29] Calculate AFC of 3 units from the following data: Average fixed cost of 3 units = ..ﬂnmw.m“w@ —
Unit 0 1 2 3 . NO. Of Ur 2
Total Cost 30 40 50 60 AFC of 3 units =X 5 o
(a) 30 g : e
(b) 15 2010 - JUNE . 2
(¢) 10 : :
(d) 5 (1 mark) [31] What will be the TVC if we produce 2 uniis?
Answer: . 5 _ A

: Units 0 1 2
(c) Fixed cost is the cost incurred even when no production is done

] TC 20 37 50
whereas cost incurred on production of units is called variable cost. (@) 15
. Total cost is the summation of fixed cost and variable cost. (b) 05
(e) 17

_ _ (d) 30
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[33] Units

Answer:
(d) At zero units of output TC=FC (since TC=FC+VC)
So FC= 20, y
At 2 units of output: TC=50 and FC=20 so
variable cost = Total cost — Fixed cost
50- 20= 30

[32] The total cost of production of 10 units is T 200. When production is

increased to 20 units its total cost becomes Z 600. What will be its
marginal cost.

(a) 400
(b) 40
(c) 4
(d) 30 (1 mark)
Answer:
(b) Marginal Cost is expressed as:
_ Differencein total cost
Difference intotal units
_ 600-%¥200 _ 400
20-10 10
= T 40 per unit.
0 1 2 3 4
Total Cost 20 30 40 45 50
What will be the AFC at 4 units of output.
(@) 2
(b) 3
(c) 4
(d) 5 (1 mark)
Answer: !

(d) Average fixed cost is expressed as:

_ Totalfixedcost_ T20

=3 5 per unit.
4 units P

Quantity

2010 - DECEMBER

[34] Payment made to o:a_o.m_.m for their moonw and se

[39]

[36]

(a) Opportunity cost

(b) Real cost

(c) Explicit cost

(d) Implicit cost

Answer:

(c) Explicit cost (or Accounting cost) takes care of all the |
and charges made by the entrepreneur to the suppliers
productive factors E.g. wages to workers employed, pric
raw materials, fuel and power used, rent for hired build
on money borrowed for doing business etc. These ¢
included in cost of production.

Direct Cost is also known as :

(a) Indirect Cost

(b) Traceable Cost

(c) Opportunity Cost

(d) Accounting Cost.

Answer: :
(b) Indirect cost also known as non-traceable cost. Traceable

known as direct cost. Accounting cost also known as exp
A firms AFC is T 200 at 10 units of output what will be it at 20
output?
(a) 500
(b) 100
(c) 150
(d) 200
Answer:

_ TFC

(b) AFC Output

Now, TFC for 10 units of output = 200 x 10 = 2000

2000 _

= AFC for 20 units === =1
uni e 00



J

(1 mark)
OCAUCﬁ =¥ 58
=% 580 0

tary
(c) OVerheagq

(d) direct

>:ms_m_.”

ining unchanged, an NCrease
(@) Afallin price

n g‘g
(b) Arise in _uzn.um .

() No change in price o

(d) An increase in Supply. area
Answer-

(b) An INCrease in demang Without g Change i
N price and Quantity .

T.—NH Fing out

AFC of 3 unit -
M.:i._. 0 1 2 5
< 300 1.
(@) 100 000 2,000 3.000
(b) 209
() 300
(d) agg.




Answer:

(a) Average fixed cost (AFC) = 1otal Fixed cost

No. of units

In the given case,
Total fixed cost = Z 300

~ AFC for 3 units = 300 =7 100

3
. Hence, AFC for 3 units is ¥ 100
[43] Units 0 1 2
TC 580 1,200 1,500
Calculate AFC at 2nd unit of output
(a) 235 (b) 290
(c) 310 (c) 920.
Answer:
: _Total Fixed cost
(b) Average fixed cost (AFC) = NGl

~ In the given case, fixed cost = ¥ 580

SAEC of 2 unit = m% =%290.

[44] In the long run all factors are -
(a) Fixed
(b) Variable
(c) All factors remain unchanged
(d) None.
Answer:

(1 mark)

(1 mark)

(b) Long run is the period of time during which the firm can vary all of
its inputs. In other words, in the long run all factors are variable and

no factor is fixed.

[45] What is the total cost of production of 20 units, if fixed cost is ¥ 5,000

and variable cost is ¥2/-?
(a) 5,400

(c) 4,960

Answer:

Same as Ans. 12

(b) 5,040
(d) 5,020

[46]

[47]

[48]

What will be the AFC of 3 units of Output as pe
Output 0 1
Total Cost (in %) 300 1,000
(a) 100 _
(b) 1,000
(c) 200
(d) 400
Answer:
(a) Total Fixed Cost =< 300

Total output = 3 units

What will be marginal cost of 67 units of production acco
table given below :
Units of Production
Total Cost

(@) 10

(b) 20

(c) 30

(d) 50

Answer:

(c) Change in total cost = 1400 — 500 = ¥ 900 -

Change in units of production = 67 — 37 = 30 units

. _ ChangeinTotal Cost _ 900 _ .

MC per unit ChenBnues =330
Which of the following is known as Envelop Curve?
(a) Average variable cost curve
(b) Average total cost curve
(c) Long run average cost curve
(d) Short run average cost curve

0 10 25 7
160 200 300 500

i




T
—

J

50

51)

L.

Answer:

[Cha - e
Pter = 3.21 Theo of Cost|m [ 2:993 | (3994 | m [solwed Scanner CA Foundation Paper: 4A

¢) Ifis afirm has a choice that
( gradations sothatthere o “w_u_ma can

all these short run avera
: ge Gost ¢
cost curve is also known as m:éﬂﬂwwcﬁ_ﬂm.
The average fixed cost for producing an output of & uni
by a firm is X 30. The same cost for units of a product

b e . Producing an output of 4 units will
Emo

(b) 45
(¢) 25
(d) 20
Answer:

a smooth curve enveloping

Long Run average

(1 mark)
(b) Total fixed cost = 30 x 6 = ¥ 180
AFC for 4 units of output = J7C _ 180

Given

Qutput 0 4 8
Total Cost () 20 24 48

E_Jmﬁé.__cmﬂjo>_uooﬂh:3=mo_ Output
(a) 2

(b) 3

(c) 4

(d) 5

Answer:

(d) Total Fixed Cost (TFC) =% 20
Total units of output (Q) = 4 units
pAFc= TTC - 20 _ej5

Q 4

Suppose the total cost of production of commodity ‘X' is T 1,25,000 Out

of other cost implicit is T 35,000 and normal profit is ¥ 25,000 what will
be the explicit cost of commaodity 'X'?

(1 mark)

(a). ¥ 60,000
(b) ¥ 65,000
(c) ¥ 90,000
(d) ¥ 80,000
Answer:

_ Implicit Cost — Normal Profit
licit Cost = Total Cost Imp :
L muﬂ_um.w_ 000 — 35,000 — 25,000 = 2 65,000

[52] What will be the total fixed coO
the details given below:

st for the production of three units as per

Units 0 1

2 3

Total Cost 620 940

1555 3670

(a) 620

(b) 640

(G 1S

(d) 2650

Answer:

(a) Fixed cost is the cost wh
Is zero. Also,

(1 _.:.mznu

ich remains fixed even if the total output

Total Cost = Fixed Cost + Variable Cost
At zero units of output, variable cost will be zero.

620 = Fixed Cost + 0

So total fixed cost = T 620.

Fixed cost remains constant irrespective of units of output.

(53]

Hence at 3 units of output also total fixed cost will be ¥ 620.
Cost in terms of pain, discomfort, disability involved in supplying the

various factors of production by their owners are termed as

(a) social cost
(b) explicit cost
(c) real cost
(d) implicit cost




Answer:
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[54]

(c) Real cost refers to all those payments which are made to the
factors of production to compensate for the efforts, pains, exertions
or sacrifices suffered by them.

Real cost = efforts, pains, exertions and sacrifices of labour
and capital + wait and abstinence of entrepreneur.

Real cost is the cost in terms of pain and sacrifice made to
produce goods and services. It includes the cost of producing
goods and services as well as the cost of all resources used and

the cost of not employing those resources in alternative uses.
Which of the following is known as the Envelope Curve?
(a) Average variable cost curve

(b) Average total cost curve
(c) Long run average cost curve
(d) Short run average cost curve.

(1 mark)
Answer:

(e) Long Run Average Cost Curve (LAC) is a U shaped curve. When
LAC curve is declining it is tangent to the falling portions of the
short run cost curves and when LAC is rising it is tangent to the
rising portions of the short run cost curves. In simple words, long

run average cost curve envelops all the short run cost curves and
hence is known as the envelope curve.

SAG
SAC:\ | AC
SAG, oA

[55] The cost of resources owned and employed by the entrepreneur

(56]

himself in his business is termed as

cost.
(a) explicit (b) ._Bu.z%
(c) fixed (d) variable. (1 mark)
Answer: i

(b) Implicit costs are the cost for which payment in money terms is not
made. These are the cost of factors owned by the entrepreneur
himself and employed in his own business. For e.g. An
entrepreneur uses his own land for production. If he would have
rented that land he would have earned rent. So the cost of using
his own land in the business is known as the implicit cost.

A firm will close down in the short period if its average revenue is less
than its:

(a) Average cost
(b) Average variable cost
(c) Marginal cost

(d) Average fixed cost
Answer:

(1 mark)

(b) A firm should close down in the short run if it is not able to recover
its variable cost. A firm shall continue to run if it is not able to meet
its fixed cost because it may recover it in future. But variable cost

is incurred to meet the payment of raw material, labour ete. which
should be met otherwise the firm should close down.

2012 - DECEMBER

[57] A firm's total cost is T 200 at 5 units of output and 220 at 6 units of

oSUE.Ajmamﬁ_:m_oomﬁoﬂuqoaco_:@mﬁc::oqo:scﬁs.__uo
@20

(b) 120

(c) 220 |

(d) 320. (1 mark)

59) The

(@) |
(b)
(c)
(d)
An:
(a)



=% 20 per unit
58] Consider the following data

" Uni of output : 0 1 2830
Total Cost: 25 456 gg 105
The Average Variable Cost (AVC) for an output of 4 units will be :-
{(a) T 20
(b) T 30
(c) T 25
@) 226 (1 mark)
Answer:
= __Difference in Total Cogt
@) VCP.u. Difference in units procuesg

Ac:zmumoxanamo

(b) average

(c) average varijable
Q) average fixeq
Answer:

(@) Marginal cost is the addition m

of an additj )

: ade to the total cost by pr.
onal unit of Output.

[60]

[61]

When AC curve is rising, :
(@) equal - 3
(b) above : a7
(c) below ' ;o
(d) parallel. ; .
Answer: 1 I ‘
(b) When the AC curve rises as a mmmc#
is more than AC i.e. MC curve is above A
The Average fixed cost for producing .

Py a firm is ¥ 30. The same cost for producing
be ¥ z

(a) 50

(b) 45 .
(c) 25

(d) 20

Answer:

(b) AFC =

TFC

No. of units Ee g -
30/ SIEG e
B8 . L - \...u
_.ﬁHOHmoxmuﬁmo. _

o
So, Avc for4q units of Output — .H@ Pk
=345 L.




[63]

[64]
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Answer:

(d) The total fixed cost is a constant amount, i.e. it is fixed in nature.
Average fixed cost will steadily fall as output increases. Therefore,
if we draw average fixed cost curve it will slope downwards
throughout its length but will not touch to x-axis as AFC cannot be
Zero.

Suppose the total cost production of a commodity 'x' is ¥ 1,25,000 out

of which Implicit cost is T 35,000 and normal profit is ¥ 25,000. What

would be the explicit cost of commodity x?

(a) ¥90,000
(b) ¥65,000
(c) T1,00,000
(d) 60,000 (1 mark)
Answer:
(b) Total cost =% 1,25,000
Implicit cost =% 35,000
Normal profit =% 2,50,000
Explicit cost =72
Total cost = Explicit cost + Implicit cost + Normal profit
1,25,000 = Explicit cost + 35,000 + 25,000
Explicit cost = 1,25,000 - 35,000 - 25,000

= 65,000
In which of the following cases opportunity cost concept applies?
(a) Resources have alternative uses
(b) Resources have limited uses
(c) Resources have no use
(d) None of the above.
Answer:
(@) Opportunity cost refers to the cost of opportunity forgone involving
a comparison between the alternative chosen and the alternative
forgone. It relates to the sacrificed alternatives.

Thus, opportunity cost concept applies where the resources
have alternative uses.

(1 mark)

[65] Direct costs are also known as
{(a) traceable costs
(b) indirect costs
(c) opportunity costs
(d) real costs.
Answer:

(a) Direct cost are costs that are readily identified and are traceable fp
a particular product operation or plant. It is also known as

Traceable Cost.

2013 - DECEMBER

(1 mark)

R PP gy, . e

[66] Which statement among below is correct in reference in Average Fixed

Cost

(a) Never becomes zero

(b) Curve never touches x-axis
(c) Curve never touches y-axis
(d) All of the above.

Answer:

(1 mark)

(d) Average fixed cost never touches any axis but it slopes downward,
Average fixed cost can never be zero even if there is no production
so it can never touch any axis. AFC falls when output increases as

fixed cost is always fixed.
Thus option (d) is correct.

2014 - JUNE

[67] Marginal cost changes due to change in
(a) total
(b) fixed
(c) average
(d) variable

cost.

(1 mark)



Jiargiie c; > ady
~ production of an additiong
cost. Itis only the <m_.~md_m .

the level of output in 5 m_..omwmw.. |

A firm produces 10 units of a comma:
-z 200 and with a fixed cgst of 2 .moc
average variable cost in the tota| coat -
o s al cost -
(b) T 200
(5 X 150
(d) ¥ 100
e . (1 mark)
(c) Average total cost of 1 unit = ¥ 209
Total cost of 10 units = 200 x 10 =% 2,000
~  Total fixed cost = % 500 : |
= Total variable cost = total cost total fi
. - total fixed
=2,000 - 500 =¥ 1,500 L

- Variable cost of 1 unit = 1,500 =% 150
10

_Mm.mwm. component of average variable cost in the total cost is
Average total costto a firm is T 600 when it produces 10 units of output
and ¥ 640 when the output is 11 units. The MC of the 11th unit is :
(a) T40
(b) T 540
(c) ¥ 840
(d) 1,040 (1 mark)
Answer:
(d) Average total cost of 10 units of output =¥ 600
Average total cost of 11 units of output =¥ 640
. Marginal cost of 11" unit = Total cost of 11 units - Total cost of 10
units
= (640 x 11) - (600 x 10)
= ¥1,040

- DECEMBER

0. What im_.ﬂﬂ

[70] Average cost
cost is ¥ 1,000. )
units of the commo
(a) 10
(b) X 30
(¢) T20
(d) T 05
Answer:
(a) Fixed Cost

producing 10

- The Average

FixedCost __ 1

AFC —

A company produces 10 units of output ar
variable cost and Z 5 per unit of fixed cost. Wh
producing 10 units?

(a) ¥ 300
(b) T 35
(c) T 305
(d) ¥ 350
Answer:
(d) The total cost of producing 10 units is: .
Total Cost — Total Fixed Cost + Total Var. Cost
= 10x5+ 10x 30
= 50 + 300

- 350

6th unit of output?

Output

Total Cost

(in %)

of preducing 50 E.....wm_.__mm
0 units will also be the sa
Fixed Cost of 100 units
00 _ 10 )
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(a) T133 (b) X75
(c) X80 (d) % 450 (1 mark) ,FJ
Answer: .
©) | is related to which of the following?
Output | Total Cost | Marginal n.uowL g ﬂw:mﬂwnoﬂﬂmmﬂ“w@m cost curve 0
w MMM mo # (b) Long run average cost curve : A 50
0 c) Average variable cost 5 1l pe me
2 410 BOIE | ﬁﬁw ?__mqum total cost. (1 mark) n /z«,mW%%__
3 480 70 4 Answer: . . (@) 400
4 540 ) ~ (b) Long range average cost curve is often called a planning curve () £00
5 610 70 ~ Umomcmm afirm Q_m:.m to produce any outputin long run by choosing c& 500
6 590 80 4 a vméoc__mq, plant in Eo long run and the average cost cumve (d) 3
= = corresponding to the given outpul. .P:ms__mq -
[73] The positively sloped (rising) part of the long run average cost curve (7] Usingthe following data find out the marginal cost (MC) of the sixth unit MC= £
_ﬁ:%_o%ﬁom Eo:cq@ oﬂ:m _[ of output: oy ™
a) diseconomies of scale 4 5 8 G=
(b) increasing returns to scale , MMHMH: # Mm J Mw / Mp , ...m» \ 130 \ 148 / )mmf Mmlw/ i
A (c) constant returns to scale . j Cost / / / / / / / / /
(d) economies of scale (1 mark)
Answer: (@) 24
I e (o) 16 e =
(a) The positively sloped (rising) part of the long run average cost (©) 20 1C
curve indicates working of the diseconomies of scale. Because (d) 21 @ ok : J_.
rising LFAC and diminishing returns to scale result from internal o . =
and external diseconomies of scale. ) 1 NG =TC. -TC o
[74] Average fixed cost curve is always: () MC= 22 or :J. :l.ﬂ i 118\ DimMinis
(@) Declining when output increases _ : 2Q MEs el _ (@) De
(b) U-Shaped, if there are increasing returns to scale MC =168 — 148 (b) Dt
(c) U-Shaped, if there are decreasing returns to scale =20 @) n
(d) Intersected by marginal cost at its minimum point (1 mark) : . d) T
Answer: Ansy
{a) Average fixed cost will steadily decline as output increases. If we (c) !
draw an AFC it will slope downwards throughout its length but will

not touch the x-axis as AFC can't be zero.




5olve question
putput (Units)

: (in %) e MC
: 500 (in3) (in %)
= Moo & =
0 40
(@) 300 ArGinal cogy, o £
) 400 * **Nen output is 5 units?
(c) 500
(d) 600
Answer: - (1 mark)
(@) M.C = J.pl% = Q.Q,@miqgmocm
T.F.C = 500 FX} O_: 953.?
.ﬁ.O. for 5 units = 1.600
‘Lofor5 units - T.F.C+TMC
=500 + 1,600
T.F.C = 500 TV T 00
V.C for 1 _
T.C. for 1 unit — SO =400
200 I 500 + 400 = 900
= — =300
a4
(78] Diminishing marginal returns implies
(@) Decreasing average variable costs
(b) Decreasing marginal costs
(c) Increasing marginal costs
(d) Decreasing fixed costs.
Answer: R

() It states that as one input variable is increased there is a point at
which the marginal increase in output increase and then begins to

c.mo_wm..vmmm_ leading to the increase in the marginal cost with every
additional unit.

[79]

[80]

: in tr 1t run, its
When the output of 2 firm increassHinalie SRR

cost

(a) Increases

(b) Decreases

(c) Remains constant

. 1 mark)
(d) First declines and then rises. | {
Myc.wmwmmqn"m TEC is a constant amount, AFC will steadily fall as output
increases.

- I 3 -V
Which of the following cost curves is never U’ shaped?

(a) Average cost curv/e

(b) Marginal cost curve

(c) Average variable cost curve
(d) Average fixed cost curve.
() Aver [ i “J” shaped because it slopes
(d) Average fixed cost curve is never shap

Downward through its length and never touch X1 axis.

(1 mark)

2016 - JUNE

[81] Fixed cost curve normally:

(a) Starts frem the origin
(b) Is U shaped

(c) Is vertical line

(d) Is horizontal line.
Answer:

(1 mark)

(d) Fixed cost are those cost which are independent of output i.e. they

do not change with changes in output. Thus, fixed cost curve
normally is a horizontal line.




i
5
i) TRl

also := The total cost curve
the total fixed cost curve mﬂ&

(1 mark)  [84] What happens to marginal cost:
(a) Marginal cost is below aver
tional producer will produce in the stage in which marginal (b) Marginal cost is above average cost
product is positive and MP<AP. As in this case a producer could (c) Marginal cost is equal to méﬁmm ial
increase the average product of labour by decreasing the quantity - (d) Marginal cost is equal to average cost.
Q _mgca_m_ﬁz_« B _
 vertical difference between TVC and TC curves is equal to: (b) The relationship .ooﬂzmm: Bw@:&__ aﬂﬂ

is more than the average cost.

(1 mark)  [85] If the market price of good is more 1
: producing it, then:

> Aﬂm_..__ Hﬂﬁ cost of a business is the sum of total variable cost and total (@) The market price of the product will inc
- fixed cost or symbolically TC = TFC + TVC. (o) Producers will increase supply in 5@6&.@

supply to decline with the passage of time
NG (d) The situation will remain unchangedas lor

Cost remain in balance.
Total Answer:

Total fixed Cost (b) If the market price of good is more than
4 TG producing it then producer will increase
the amount of a good or services that p
to offer to the market at various prices
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20 at 6 units of output, what will it be =

[88] When average fixed costis
4 units of output?

(a) T 60
S : y 1 () T30
[86] A firm has variable cost of ¥ 1,000 at 5 units of output. If fixed costs are 2 mark)
: (c) T40 (1 mau
< 400, what will be the average total cost at 5 units of output?
(a) 380 « ASIESey ]
Answer:
(b) 600 (b) AFC = 20 at 6 units of output
(c) 280 = 6
TFC =20x
(d) 400 (1 mark) _ 120
>:m£mﬂ ~ AFC at 4 units of output
(c) Variable Cost =T 1 ,000 at 5 unit 120
Fixed Cost = T 400 = 5 =30
Total cost = Variable cost + Fixed cost <
=1,000 + 400
=1,400 at 5 unit. 2017 - JUNE
- Average total cost = %
=% 280 [89] Modern industrialunitsface __ cost curve due to change in their

[87] The average total cost of producing 50 units is ¥ 250 and total fixed

technology of production.
costis< 1,000. What is the average fixed cost of producing 100 units?

(a) U shaped
(@ 5 (b) L shaped
(b) 30 (c) Dish shaped
(¢) 20 (d) J shaped. (1 mark)
(d) 10 (1 mark) Answer:
Answer: .
(d) ATC of 50 units =¥ 250 iy m:m%mmjwﬂwm% CO_MM curve could exist onl
TEC = % 1.000 ; y when the state of
o S technology remains constant but, the empirical evidence shows
AFC of 100 units = Ja that the state of technology changes in the long run.

_%10. Therefore, modern indust

rial units face ‘L’ shaped cost curve
than ‘U’ shaped cost curve. e




[ (o= sz oy orcon/a [s707]
3 of 3 units according to the following

0 1 2 3
140 230 310 380

(1 mark)

_ rg|a=§|§|~8-§ =

E aﬂ =0 3 3 3 =80
W: - The costs which remain fixed over ceriain range of output but suddenly
jump to 2 new higher level when production goes beyond a given lirnit
arecalled:
(a) Variable cost
{b) Semi- variabie cost
{c) Stair- step variable cost
{d) Jumping cost.
{c) STAIR-STEP VARIABLE COSTS are the costs which increase in
a siair siep fashion i.e. they remain fixed over ceriain range of
output; but suddenly jump to 2 new higher level when output goes
beyond a given limit. Eg. Fixed salary of foreman will have a
‘'sudden jump if another foreman is appointed when the output
crosses a particular limit.
fiem producing 9 units of output has an average total cost of ¥ 200
as {o pay < 630 to iis fixed cost of production. How much of the
total cost is made up of variable cost?

(1 mark)

(1 mark)

[3.1012 | W [sofued Scanner CA Foundation Pape

gﬂiﬂﬂn d R 7l
(b) Variable Cost = Total Cost - Fixed Cost

— ANOO X wu -630

=1,170 : _
AV -1V .20 :malﬁmc s
[93] The cost a one thing in terms of alternative given L

(a) Opportunity Cost

(b) Real Cost

(c) Production Cost

(d) Physical Cost.

Answer:

(a) Opportunity cost is concerned with the cost of forg
it involves a comparison between the policy aﬂmﬂﬁﬁmr
the policy that was rejected.

For example, the opportunity cost of usin
interest that it can eam in the next best use with

__ 2017 - DECEMBER

[94] In the short run, when the output of a firm increases, its
cost
(@) Remains constant
(b) Decreases
(c) Increases
(d) First decreases and then rises
Answer:



p————

——

[Chapter = 3.2] Theory of Cost|m [4.1013 |

5] What éz._ be average variable cost of
per details given in the £

producing 5 units of blankets as
' Blankets

ollowing table?
Total Cost (in 7)1 Moo 2 Mﬂ - - - >
(a) 500 ' 975 3,800 4,500 5,300 6,000
(b) 750
(c) X900
(d) 1,000
Answer:

(c)

(1 mark)
P<m_.m.@® variable = Difference in Total Cost
Different inunits
— 6000-1,500
5-0
_ 4,500
5

=< 800 per unit

[96] Which of the following is/are example(s) of an economic cost?

(a) wage paid to labourers

(b) raw materials purchase cost
(c) interest paid on short term loan
(d) all of the above.

(1 mark)
Answer:

(d) Economic cost = explicit cost + implicit cost.
Explicit cost refers to those costs only which involve cash
payments of the entrepreneur of the firm.
Implicit cost refers to the amount of money the entrepreneur
could have earned if he had invested his money and sold his own
services and other factors in the next best alternatives.

[4.1014 | m [Solved Scanner CA Fo

2018 - MayY

[97] Opportunity Cost is:

(98]

[99]

(a) Marginal cost

(b) Variable cost

(c) Total fixed cost

(d) None of these.

Answer: : - MLr

(d) Opportunity Cost of a given activity defined as the value of :En
best activity and it is not related with any cost. It means sacrifice of
one good for another good to give satisfaction 1o self.

The “law of diminishing retures " applies 1o

(a) the short run, but not the long run

(b) the long run, but not the short run

(c) both the short run and the long run

(d) neither the short run nor the long run

Answer:

(a) ‘Law of diminishing return’ applies to short run but not in long run-
as in short run a fixed cost do not charge while variable cost
changes but in long run both are changes. Supply/Production
cannot increase in short run whether there is loss or profit.

Linear homogenous production function is based on

(a) Increasing returns to scale

(b) Decreasing returns 1o scale

(c) Constant returns to scale :

(d) None of the above.

Answer:

(<)

(1 mark)

(1 mark)

Linear Homogenous production is based on constant return to
scale because output increase in the same way as increase in
input or we can say that increase in output is equal to increase in

input. Sole proprietorship production is based on constant return
to scale for lifetime.




(1 :..m_.a

| u. of units of output.

ok AFC - TFC _ (Totai Fixed Cost)
. - Q No.ofuniscfoupd)

TFEC can never be U-shaped as it will fall as total output increases
and will not touch the X-axis. It can also never be zero.

[101] Unit ¢ 1 2
j [ % 580 1200 1500
Calculated AFC at 2™ unit of output:
@ 235
Bl 220
@ 310
(&) S20 (1 mark)

. Answer:
8) Here: 580 is 2 fixed cost because it will be incurred whether firm
praduces or not. So, i is fixed cost,

,_! Euﬁ is the cost obtained by dividing total fixed cost by the :::&Q -

- [103] External economies acciue due to

[102] Which of the following curves neve
(a) Marginal cost curve
(b) Total cost curve
(c) Average fixed cost curve
(d) Average variable cost curve
Answer: ~ 1
(c) Average fixed cost is a curve which car

fixed cost steadily falls but never fouch axis.

(a) Increasing retumns to scale

(b) Increasing returns to factor

(c) Law of variable proportions

(d) LOW cost

Answer:

(a) Increase retumn to scale means when thereisair
is more than increase in input or in other words
> increase in input and there are some
economies which tends to increasing refum 1o

[104] A firms average fixed costis 720 2t 8 Eia&i

units of output? v

(2a) Z60

(b) 230

(c) 240

(d) 720

Answer: 1

(c) Average fixed costis 20 at 8 iﬁli

ArCatSunits=20

AFC 28 3 units = mu&

3
=740
23 we AFC is decreasing steadity by ncreasing &
So, AFC 2t 3 units is 40 and 24 6 is 20. &



5] Which of the following i .
_ﬁ AFC=AVC 4 3@5 g
(b) ATC = AFC.- AVC
(c) AVC = AFC + ATC
(d) AFC = ATC.- AVC
Answer: ity
(d) Average fixeq can b

W =
ooﬂwﬁm. ATC = Average total Costand AVC = Average variable

() ﬁj.ws WO goods are perfect complementary goods, the
Indifference curve i consist of two straight line with a right

angle bent which is convex to the origin or in other words, it will
be L shaped.

06] The vertical difference between T
(a) MC
(c) TFC
Answer:

() Total Variable Cost (TVC) and Total Cost (TC) is differences of
TFC (Total Fixed Cost) Formula Derived is:
TC=TVC+TFC
TC-TVC=TFC
This is vertical difference between Total Variable Cost and Total
Cost. E . ,
07] The cost of one thing in terms of alternative given up:
(a) Real cost
(b) Production cost
i st
c) Opportunity CO
Mn: mu:%m_.om_ cost (1 mark)
b:mMMmm:c:f cost is the cost which means the next best activity or
& sacrificing of one good thing for other.

‘4B

VC and TC curves is equal to:
(b) AVC

(d) None of the above. (1 mark)

[108] The cost which remains fixed

. over certain range of ou
JUmps to a new higher level when production goes
are called: - Sy
(a) Variable cost i
(b) Semi-variable cost
(c) Stair-step variable cost
(d) Jumping cost : :
Answer: S
(c) There are so many types of variable cost and these are:
(a) Variable cost or pure Variable Cost . b
(b) Semi-Variable or mixture of fixed and Variable cost. .
(c) Stair-step Variable cost which means the cost which remains
fixed for a long time but suddenly jumped to a new higher level
when production goes beyond a given-limit.

°
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2006 - NOvEMBER

iti : MR <0
[1] Which of the following is not an essential condition of pure competitiony me e
(a) Large number of buyers and sellers
(b) Homogeneous product

_ (d) None
(c) Freedom of entry Answer
(d) Absence of transport cost (1 mark) (@) MR =
Answer: = _ .
(d) Pure competition is a part of perfect competition. The essenfial | Ife>
conditions of pure competition are: _
(@) Large number of buyers and sellers The !
(b) Homogeneous products .
(c) Freedom of entry and exit of firms.
2007 - MA
2007 - FEBRUARY _
b 4 Profits ¢
[2] Under which of the following forms of market structure does a firm has (a) MF
no controkover the price of its product : ¥ (b) Ad
(a) Monopoly . (c) Bc
(b) Oligopoly (d) N
(c) Monopolistic competition Answ
(d) Perfect competition (1 mark) () P
,.._ N
W c



W\\E&En&?ﬁsma@g&a

l.\.\...\ll.l|||
Answer:
() m;m_mmm.amoon..%w_co: is a price taking firm._The prices N such 2
market are determined by market forces by S
N of demand and SUuPP p) Effect shou down
Neither the buyer nor the mmm_m.q can influence the prices- M.ow prices m:oc_a be ooqmwma
3] Given the relation MR=P Armd_ Fes1 thet (@ All of these . : _
el i nswer: :  than margind’ cost .
(@) MR>0 AR When margind! revenue is greate the firm 10 expand output-
(a) Whe 1 is profitable for
i) MRE=0 -
{d) None (1 mark})
Answer:
_ (e-1)
_.m.u MBE=P| —| . =
; 3 - = nds <
b o e (6] Under monopoly price a_mo:i:mnwm.amﬁm e
fe> " (a) Elasticity of demand for commo ity
The relation e-1 will be positive (p) Elasticity of supply for 003_.:0.@:%
e e _ i . et -
(c) Size of mark (1 mark)
(d) Ali of above
Answer: . g oSS < i £
(a) Monopoly hasa feature of price discrimination 1.€- charging Q. eren
prices from different customer. it depends upon the elasticity of
14 Profits of the firm will be more at : demand of various customers. Difference in elasticity forces the
_ (@) MR=MC monopolist to charge different prices from different customers.
T (b) Additional revenue from extra unit equals its additional cost [7] Firms in a monopolistic market are price Z
_..n.._ Both of above (a) iakers
(d) None (1 mark) (b) givers
W:mim: (c) makers
¢) Profits of the firm are maximum at profit maximization level i (d) acce
s n it n i vel i.e. \a ptors .
MC=MR. Additional revenue from extra unit equals its additional Answer: ) (1 mark)
(c) In a monopoly ma ; : =
poly market the prices are decided by the monopolist. He

cost.
is the maker of the price. Buyers cannot influence the prices




-

W

2007 - NOVEMBER

[8] Market which have two firms are known as
(a) Oligopoly
(b) Duopoly
() Monopsony
(d) Oligopsony

(1 mark)
Answer:

(b) Duopoly is composed of two words - “Duo” and “Poly”.

, Ucoamm:m
two and “poly” means seller. Hence, duopoly is a market where
there are two sellers,

| 2008 - FEBRUARY

[9] Monopolist can determine :
(@) Price
(b) Output
(c) Either price or output
(d) None

(1 mark)
Answer:

(¢) Monopolist firm is the price maker firm. In this market only the seller

can influence the prices. He can determine either output or price.
[10] MR of n th unit is given by :

() TR/ TR, .
(b) TR, + TR, _,
() TR,-TR, ,
(d) All of these

(1 mark)
Answer:

(¢) Marginal revenue is the addition made to the total revenue by

producing one more unit of a commodity. It is expressed as:
MR- =TR -TR .,

*n n

[Chapter = 4.1] Meaning and Types of Market | m | 4.1023 | { 41024 | m |solved Scanner CA Foundation Paper - 4A (New Syllabus)

2008 - JuNE

[11] The market structure in which the number of sellers is small and there
A

[12] In perfect competition, since the firm is a price taker, the
mm\;.._

p

is inter dependence in decision making by the firms is known as :
(a) Perfect competition

(b) Oligopoly

(c) Monopoly :
(d) Monopolistic competition (1 mark)
Answer:

(b) Oligopoly is often described as “competition among the few”. it ig

characterized by small number of sellers who are interdependent
in decision making.

is a straight line :
(a) marginal cost
(b) total cost

(c) total revenue

_d) marginal revenue
Answer:

Curve

(1 mark)

(d) Inaperfect competitive market, the prices of all the firms are same.

Hence, there is no change in marginal revenue and the MR curve
is a straight line.

2011 - JUuNE l

[13] Given the relation MR=P | 1- WJ , if @<, ther.

(@ MR<0

(b) MR>0

(c) MR=0 ,

(d) None of these. (1 mark)

20

i

S
42 - 9

For

4 (@)
()

(©)

(d)

Arx

(c



-P(1 -1/e) and e < 1
ets assume e =0.5
puiting it in the formula we get
A = Pg
05)
MR=-P
So MR will always be less than zero.

{14] For a discriminating monopolist the condition for equilibrium is:
(a) MR >MC

(b) MR, = MR,

{c) MR_=MR, =MC

{d) All ¢f the above.

Answer:

{c) One of the imporiant conditions of price discrimination is that the
seller should be zable io divide his market into two or more
submarkeis. If marginal revenue in both markets are different then
price discrimination is possible. The seller will transfer his products
meore to that market which gives more marginal revenue. Suppose
MR of market A is more than market B. So the seller will transfer
the products from market B to market. A Due 1o this the prices of
market B will rise 2nd A will fall. Gradually the MR of B will start
increasing. He will confinue to transfer units from B to A till the
marginal revenue from both markets become equal. After this point
it will be no longer profiiable to fransfer units and hence the
position of equilibrium will be when

MR, = MR, = MC

(1 mark)

_._ 2013 - JUNE _

Answer: . | - ”
(b) In perfect competition :ﬁ*.ﬂ m,\ﬁ i
the market. Since the price 1S COM=!
commodity determines the total

Due to this reason the A.R. curve
demand curve.

[16] Given, AR = 5 and Elasticity of aﬁﬂﬁnﬁ — 2 Find M ..r.|

I..I_Hr_. Jut_ ..Ul.... S
. o .I.. =
(a) +25 =
(b) -25 - _
(c) +1.5
(d) +2.0
Answer:
{(a) MR = AR x e-1
=
2-1
=5 K
2
= <+ N-m
Hence, option (a) is the correct



B

pter = 4.1] Meaning and Types of Market | [ 4.1027 |

[4.1028 | |so[ved Scanner CA Foundatlon Prg

= [Cha

| 2013 - DECEMBER

[17] lfa seller obtains ¥ 3,000 after selling 50 units and 3,100 after selling

. 3 52 units, then marginal revenue will be
(a) ¥59.62
(b) ¥50.00
(c) ¥60.00
(d) ¥59.80

Answer:
(b) S.P of 50 units = ¥ 3,000
S.P of 52 units = ¥ 3,100
S_P of additional 2 units =

100 _
5 =50,

Thus, option (b) is correct.

close down in the short

* 100 & marginal revenue of 1 unit.

period, if its AR is less than :

[18] A fim will
(a) AC
(b) AVC
(c) MC
(d) None of the above
Answer:

(b) In short run, if the firm is
cost it will try t0 continue produc

a part of FC, it will be peneficial to cont
if a firm is unable to meet its AVC, it wi

down.

(1 mark)

able to meet its VG and a part of fixed
tion in the short run. If it recovers
inue production. However,
Il be better for it to shut

(1 mark)

[rot-se |

[19] Which one of the following mx?mmm_o:m_

Revenue?
(a) MR = AR H anw
e
(b) MR =TR, — TR
AOV _S—nm = %
AQ
R : _
(d) MR= -7 _ ~ (mark)
Answer:
e rate of change in total revenue resulting

(c) Marginal revenue is th
from the sale of an additional unit.

ATR
MR= ——
AQ

; 3
1
:
MR is marginal revenue ,

TR is total revenue
Q is quantity of commodity sold

A stands for small change.

Where

2016 - DECEMBER

The market for ultimate oo:m::.,.mﬂ is known as:

(a) Wholesale market
(b) mm@:_m”ma market
(c) Unregulated market
(d) Retail market

Answer:
(d) The market for

[20]
(1 mark)

ultimate consumer is known as retail market.
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increase |
. 4l ible and easy to s
Ab “_m_iwwé short period market, it IS :owﬂnmwm“”“ machinery or increase
2L it i difficult to insta : ds to only
12017 - June the supply as itis very ly is fixed. This leads
in this market supply
[21] Fora firm to become profitable it should expand output whenever: MorGHiaDOUESON

(@) Marginal revenue is equal to marginal cost
(b) Marginal revenue is less than marginal cost
(c) Marginal revenue is greater than marginal cost

market. ; e - is | than:
: . : : eriod, if its AR is less .
(d) Average revenue s greater than average cost. (1 mark) Hmm: A firm will close down in the short p ,
Answer: -m_.. (@) AC
(¢) Itwill be profitable forthe firm to expand output whenever marginal (b) AVC
fevenue is greater than the marginal cost, and to keep on (¢) MC
expanding output until marginay "évenue equals marginal cost. Not (d) None of the above. (1 mark)
only marginal cost should be equal to marginal revenue, its Curve Ansyrer:
should cut mar inal reve : : P 7 :
™ ,m_a i __msmmm__%wmmﬁw_ﬂwww% e (b) inthe short run, fixed cost is fixed and variable cost is not fixed and
(@) Spot market and future et : if average qm<m3,cm ortotal revenue js less than jts average variable
B b Regulated market ang unregulated market moﬂ Ortotal variable cost then firm has to Close down jts business
(¢) Wholesale market and retail market ecause no one want to suffer los i
S€s by incr =
(d) Local market and national market revenue. y ease cost than
Answer: (1 mark)
(@) On the basis of nat i
Bl ure of transactions market may pe Classifieq !
4. Spot Market: 11 refers to thog -
_ Se
u:«mam__fqm:mmﬁma on the spot Bl Aiere g00ds are
b. Futyre Market: It is relateq .
g toth - £l
contracts of Blture daty. 0Ose transaction Which Nvolveg
2018 - may

A._ Misely



Equilibrium price invoives both demand and supply.
B _
2007 - AvausT 3
[ i
-

=3 be said that: .
(a) Excess supply exists. -
() Excess demand exisis _
(c) Esther (2) of (D)
(d) Neither () nor (o)
Answer: o
(b) If the price is below equilibrium price, supply ret n,

(1 mark) the demand of the commodity increases. e

L -
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e 2008 - FEBRUARY |
o
in the long run :
W 4 5 (a) Only demand can changé
hange
: E p) Onl supply can © i _ =
112 Mow __wo:m demand and supply ¢an chang “ .-.:Nm_-nw
=2 (d) None of these : =
; t sufficient
; gk i ARaS : buyers and sellers gé
i d when poth buy e
QUANTITY (c) Long run is the U@:M@-.:NSQ =5 upEh. LHence, both Qmaﬂﬁa

time to adjust their :
supply can change in long run.

007 - NOVEMBER

2008 - JUNE
] An increase in supply with unchanged demand leads to :

(a) Rise in price and fall in quantity (6] Condition for producer equilibrium IS :
(b) Fallin both price and quantity frl

it (a) TR = TVC

fc) Rise in both price and quantity (b) MC = MR
(d) Fallin price and rise in quantity (1 mark) (c) TC= TAC
Answer: Q mark)

(d) None of these

Answer:

(b) Conditions for producers equilibrium are :
a. MC=MR

L S b. MC should cut MR from below.

ra
Fa
-
rd

(71 An increase in supply with demand remaining the same, brings about.
ﬁmv Anincreasein equilibrium quantity and decrease in equilibrium price.
. (b) Anincrease in equilibrium price and decrease in equilibrium quantity.

(c) Decrease in both equilibrium price and i .
. .
Cumntity demmanded and supplied (d) Non fthose. ﬂcmjﬁ_q .

(d) When ihere is an increase in supply, demand remaining the same,
the price of the good decreases and gquantity demanded increases.
_ it is evident from the following diagram:

S PRICE

(1 mark)

-



.& output from 9 units to 10 units?

o

aﬂmﬂ_e: Esmﬂ E___ am the marginal revenue awc_:_._m from an

(1 mark)

fp (6] From the following tabile; it il be equilibriu
Price (in 3) :

(@ 2
(b) 3
(c) T4
(d) ¥5
Answer:

(c) Equilibrium Market price is ¥ 4 because at ﬁ.m _w___.k
. price are equal so market price will tend 5

| 2006 - NovemBer |
L e

o~ oUW

Demand (Tonnes
per annum)

500
450
400
350
300
250
200
150

A



e

[10] If the pri :
o n_:m_:%:wm of a Commodity is fixed, then with every increase in its sold
ty the total revenue will and the marginal revenue will
(a) NCrease, also increase
(b) increase, remain unchanged

(¢) increase, decline
(d) remain fixed, increase. A
Answer:

(b) If the price of a commodity is fixed, then with every increase in its
sold quantity the total revenue will increase and the marginal
revenue will remain unchanged. As marginal revenue is the change
in total revenue. Resulting from the sale of an additional unit of the

commodity.
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@ His 9%5 ﬂu 3&%&3

(b) He charges a high price .
(¢) His average cost is minimum
(d) His marginal cost is equal
Answer:

(d) Profit maximization level is the level at y
MC = MR

[4] Under which of the following Bm_.xma mﬁ_ﬁc&
equal to MR?

(a) Monopoly
g % nue uaa:nﬁ.o_._ only if its price is greater or equal to average (b) Monopolistic Competition
- variable cost. If nrice is less than variable cost it means neither the (c) Oligopoly

(d) Perfect Oovaﬁ__o:
Answer:

L

- fixed cost nor the variable cost can be covered. In such a situ ation,
the uaacom_. wsm__ stop ancg_on

2007 - MAY
(1 mark)

competitive market is characterized by free entry and exit

i [5] Under Monopolistic competition the cross mﬂmﬂﬁ.@_%.
In the long run if the firm makes profit, more seller enter . product of a single firm would be :

try and hence the profits are reduced to the equilibrium (@) Infinite

there are losses, then and more firms leave the industry (b) Highly elastic

 into increase in profits to the equilibrium level. HHence, (c) Highly inelastic

tive firms always incur normal profits.

(d) Zero
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Answer: :
b) In cas : isti
(b) e e of monopolistic competition, the products are less
entiated and all the brands are cl i
e e re close mjc.ﬂ_aam of one
o e AR 10 ghly e m.ﬂ_n of cross elasticity.
and AC =% 8 the firm makes :
(@) normal profit .
(b) net profit
(c) gross profit
(d) supernormal profit
Answer:
(d) A firm makes normal profit when AC = AR .
In the given question AR = 10 and AC = 8 i.e. average revenue I8
greater than average cost. So the firm makes super normal profit.
(Profit above normal profit is super normal profit).

2007 - AUGUST

[7] What are the conditions for the long run equili
9 firm?

(@ LMC=LAC=P

(b) SMC=SAC= LMC

AOV P= MR

(d) All of these

Answer:
(d) In the long run, & competitive will be at e

LMC =LAC=P
(When long run mar

equal)
Also in long run in the firms operating under perfect competition is

efficient at point E' where P = MR
and SMC = SAC = LMC.

(1 mark)

brium of the competitive

(1 mark)

quilibrium at

ginal cost, long run average cost and price are

[8]

%. mm v

4.1042 | W

Kinked demand curve hypothesis is given by:
Alfred marshal

(b) A.C Pigou .
(c) Sweezy .
(d) Hicks & allen (1 mark)
Answer: .
(c) Kinked Demand hypothesis was given by Sweezy, an American
economist.
2007 - NOVEMBER
[9] Supernormal profits occur, when :
(a) Total revenue is equal to total cost
(b) Total revenue is equal to variable cost
(c) Average revenue is more than average cC5t
(1 mark)

(d) Average revenue is equal to average cost

Answer:

(c) Super normal profits are the profits over and above the normal
profit. Normal profit is included in the cost of the product (This profit
is for recovering the fixed cost). If the procduct is sold above its cost
supernormal profits occurs. In other words, when AR > AG,

supernormal profits occurs.



- . Y MC AC

P=AR=MR

COST/ REVENUE

m

.
v
>

[41] The MR curve cuts the horizontal line between Y axis and demand
curve into:

(@) Two unequal parts
. (b) Two equal parts
(c) May be equal or unequal parts
~ (d) None of these

(1 m&rk)

The slope of average revenue curve is twice the slope of marginal
- revenue curve hence MR curve units it into two equal parts.

[12] Kinked demand curve is ¢

(a) duopoly market
(b) monopoly market
(c) competitive market
(d) oligopoly market.
Answer:

time. They tend to change inf
declining cost. These inflexibilitie
demand curve. Therefore, oligop
demand curve.

moO-270
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) competitive firms in the long run earn;
| (a) Super normal profit

% (p) Normal profit

c) Losses
Mau, None (1 mark) fcf el Emiom )0
. (d) Secular modity 18
Answer: 5 Answer: . ice at which demand of a com
(b) Same as Ans. 2 (b) Equilibrium price 1S the pri
[14] Fora monopolist, the necessary condition for equilibrium is:
(@ P=MC
(o) P=MR=AR
(¢) MR=MC
(d) None (1 mark) - -
Answer: - Q
() A firm is in equilibrium when: ; :
MG = MR Point E is the equilibrium price.
[15] A firm will shut down in the short run if :
{a) Itis suffering a loss
.+ (b) Fixed costs exceeds revenue 2008 - DECEMBER
ﬁ\ (c) Variable costs exceed revenues
W_wm‘“m”._m_ costs exceed revenues (1 mark) [17] OPEC is an mxm.BU_m of -
(¢) In the short run if the firms will be in break even point when MMW ﬁwuwuou_mm_o eompetiion
variable cost = revenues. When variable cost is above revenues it : poY
means that the firm can neither recover its variable cost nor fixed (c). Oligopoiy
cost. With this situation, the producer cannot survive for a long so (C) DHORRY (1 mark)
he may shut down. Answer.
(c) OPEC [Organisation for Petroleum Exporting Countries] is an

example of oligopoly market beca _
u
pettoloumii vt i se there are few seller for



= ki —__ "~ Yuiput Uo»o_.:.._...nz

.,_ __ _ _mm:
_. % 3 Z_o:o_uo_w. Qmm__sm}mr
_ (b) Monopolistic

{©) Perfect Competition

(d) Oligopoly

Answer:

(1 mark)

mx.m“
nv Amv_umlmg Competition
(b) __SOJOUOQ
(c) Monopolistic Competition

(d) Oligopoly

Answer:

(a) C:Qm« Perfect competition demand curve is Linear and parallel to
X axis because there are huge number of buyers selling the same

seiler makes transactions in the market at a prevailing price.
. [20] Which market have characteristic of product differentiation?
m / (a) Perfect Competition
‘L (b) Monopoly

W

() Monopolistic Competition
(d) Oligopoly (1 mark)
Answer: .

have a characteristic of product

(c) Monopolistic markets :
differentiation which is the most prominent feature of such a form

re firms do not produce identical goods. They rather
WH%MN_MAQO»MMMM_‘MDH varieties of a commodity which are close
i of each other. N
[21] Ejmow,c%quhmwﬂmmﬂm characteristics of Perfect Competition.
(a) Many Sellers & Buyers
(b) Homogeneous Product
(c) Free Entry and Exit
(d) All of the above

(1 mark)

E ™ | solved Scanvier OA Foundation Paper - 44 (. :

Answer:
(d) Under perfect competition th mbe

. ere are large number of

sellers. A particular buyer has a :m@:nmu_m role na,g_v

price. : R

shape, size or packing of the product of each seller. Lastly,
__m no legal or social restriction upon the entry of new mw.:.uwg
industry. The choice of entering or leaving an industr _fon.;.n
individual firms. es on
[22] The demand Curve of oligopoly is : ,
¥ (a) Horizontal

(b) Vertical

(€) Kinked

(d) Rising left to right .

Answer: (el

(c) In many oligopolistic industries, prices remain sticky or inflexible for
a long time. This price rigidity has been clearly explained by the
kinked demand curve hypothesis. The demand curve of an
oligopoly market has a ‘Kink' at the level of the prevailing prices. ]
The kink is formed at the prevailing price level. It is because the .
segment of the demand curve above the prevailing price level is ;
highly elastic and tne segment of the demand curve below the

prevailing price level is inelastic.
Therefore, the demand curve formed under an oligopolistic market

is kinked. : :
[23] MR Curve = AR = Demand Curve is a feature of which kind of Market?

(a) Perfect Competition
(b) Monopoly

(c) Monopolistic

(d) Oligopoly

13

(1 mark)
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4] In the long-run monopolist can:

(@) Incur losses

(b) Must earn super normai profits

(e) Wants to shut-down

(d) Earns only normal profits. (1 mark)
Answer:

(b) rn:w runis ape riod long enough to allow the monopolist to adjust
his plant size or use his existing plant at any level that maximizes
his profit. In the absence of competition the monopolist need not
produce at the optimum level.

Therefore, the monopolist will not continue if he makes losses in
the long run. He will continue to make super normal profits even in
the long run as entry of outside firm is blocked.

25] The demand curve of the firm and industry will be same in which form

of market :

(a) Monopolistic Competition

(b) Perfect Competition

(c) Monopoly

(d) Oligopoly.

Answer: .

(¢) In case of monopoly market, the firm and the industry are same as
there is only one seller in the market. Hence the demand curve of

the firm and industry are same.

(1 mark)

[4.1050 | m | solved Scanner CA Foundation Paper - 4

[26] Oligopoly having identical 2

W (b) Imperfect oligopoly =

[27] The demand curve of oligopoly is :

f (a) Oligopoly (b) Monopoly i :
(c) Monopolistic Competition (d) Perfect Competition (1 mark)
Answer:

(d) In a perfectly competitive market, all units are priced at the same
level.
Therefore, P = MR = AR. Since every demand curve is the average
revenue curve, so in a perfectly competitive market, the demand
curve is a straight line parallel to X axis, i.e. demand is perfectly
elastic.

[289] Kinked demand hypothesis is designed to explain in context of

w\ oligopoly.
(a) price and output determination
{D) price rigidity
(c) collusion between firm da -
(d) all of the above - (1 mark)

[28] Demand curve is equal to M. R. curve in which market?

products is: : v
(a) Pure oligopoly

(6) Price leadership

(d) Collusion. <

il et are few sellers in the
{ i tuation when there are iev s Ly

(a), Oligopoly is a market situ et el homogensos

market. When the sellers i . :
products, such oligopoly is termed as pure oligopoly.

2009 - DECEMBER

a) Horizontal (b) Vertical . -
Mow Kinked (d) Rising left to right

Answer:
(c) Same as Ans. 22 !



*

placeonlyin___ .

(1 mark)

: 3 _u:ﬂm discrimination refers to charging different prices from different

aﬁmnn._ﬂma. This is a feature of monopoly, as this situation is

: possible only in case of monopoly as there is only one seller in the
1 ‘market and there is no competition.

¥

__ Nﬁ.-a - ”.wczm

kink on the demand curve is more due to 5

[31] In oligopoly, the

(a) discontinuity in MR.
(b) discontinuity in AR.
- (c) Fulfillment of the assumption that a price cut is followed by others
and a price increase by 2 firm is not followed by others.
(d) price war amongst the firms. (1 mark)
Answer: _
(c) Incase of oligopoly there is a 'ink' on the demand curve because
emand curve above prevailing price is highly

s the Segment of d

s = elastic and segmen
Jevel is inelastic.

The reason for the

the price below prevai

 he raises the price abo

t of the demand curve below prevailing price
the oligopolist pelieves if he lowers
titors will follow him but if
its competitors will

above is that
ling level its compe
ve the prevailing level,

[33] Which of the following is not the

(a) Seller is alone.
(b) Goods are homogen HUS.
(c) Market is controlled by the go
(d) None of the above. :
Answer: " ”
(a) In case of price discrimination there is 2
should have some control over the
monopoly power in some form is ne
discriminate price. .
So it can be said that in order to have mono
should be alone to exercise price discrimir
feature of an img

(a) Product differentiation.
(b) Few sellers.
(c) Homogeneous products.
(d) Price wars.
Answer:
(c) Features of imperfect competition are:
(i) Large number of sellers.

(i) Product differentiation
(i) Freedom of Entry OF Exit
(iv) Non-price competition.

[34] Price taker firms_ .
do not advertise their product because it misieads |

(a) _
(b) advertise their products to boost the level of de
(c) donot advertise but give gifts along with the
customers. -
(d) donot advertise because they can sell as much

prevailing price.

Answer: , o
(d) Incaseof perfect competition firms are pr
advertise their products because they ¢

wish at the prevailing prices.

"



Answer:
Same as Ans. 4

[39] Tooth paste industry is an

(@) monopoly

(b) monopolistic competition

6] When elasticity of dem
Revenue will BaLs —
(a) equal to one.
{b) greater than one.
(c) less than one.
(d) zero.

Answer:
(d) MR =AR T..I:
€]
Where, e =1

MR =AR |11
“MR = AR |1

marginal

(1 mark)

ﬁi
1
MR=0

37] Which one of the following statement is Incorrect?

(a) Competitive firms are price takers and not price makers.

(b) Price discrimination is possible in monopoly only.

(c) Duopoly may lead to monopoly. k. :

(d) Competitive firm always seeks to discriminate prices.

Answer: . : : 2

(d) Monopoly control over the product gives rise to price-
discrimination, hence it can take place only in monopoly and not in
competitive firms.

(1 mark)

[40] OPEC is an example of :

[41] Monopolistic Competitive firms

. () arevery large in size

(c) " oligopoly

(d) perfect competition.

Answer:

(b) Monopolistic competitionis a ke
differentiated products to many b
industry where product differential is ¢
control over price is only some.

(a) Monopolistic competition
(b) Monopoly

(c) Oligopoly

(d) Duopoly

Answer:

(c) Same as Ans. 17

(@) are small in size
(b) have small share in total market

(d) both (A) and (B)

Answer: ]

(d) Monopolistic competitive firms
monopolies and every monopolistic
share in the total market Example
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- § The price discrimination under SR

monopol _ i St e C
a “of the following conditions? R szﬂwmow__ﬂmom ﬂ e

= 3 The seller has no control over the supply of his product
_@ ._.ao_ B.m_.xg has the same condition all over
(c) The _u«._om o_mm__o._.q of demand is different in different markets
(d) The price elasticity of demand is uniform. . .
(1 mark)
Answer:
(c) Onzazmo:m for price discrimination under monopoly are:
m.; seller should have control over the supply of his product
ec mm.:mq should be able to divide his market into sub-markets
(iii) price elasticity of product should be different in different
markets . _
(iv) not possible for buyers of low-priced market to resell the
product to the buyers of high priced market.

3 __na._.._ - JUNE

[43] Oligopoly having identical products is known as :
(a) pure oligopoly ;
- (b) collusive oligopoly
(c) independent oligopoly
(d) none of these.
Answer:
(a) Oligopoly having identical
- example-aluminium industry.
of these is the best example of oligopoly?

(1 mark)

products is known as puré oligopoly. For

[44] Which
(a) OPEC (b) SAARC
() WTO (d) GATT. (1 mark)
Answer: : 2
'‘competition among few'. In other words

(a) Oligopoly is defined as
* when there are few sellers in the market selling homogeneous or

- differentiated products, oligopoly is said to exist. :
~ OPEC (Oiland Petroleum Exporting Countries) is the best example

(c) elastic
Answer:
(a) Monopoly is a situation when the is €
Here the firm is the price maker. The p
monopolist is less than one hence
whose elasticity is less than one.
[46] Kinked demand curve is observed in
(a) duopoly market ~(b) monopol
(c) competitive market (d) oligopol
Answer:
(d) Same as Ans. 12
[47] Perfectly competitive firm faces:
(a) Perfectly elastic demand curve
(b) Perfectly inelastic demand curve

(c) Zero
(d) Negative.

Answer: Y
(a) Firms in a competitive market are price takers.

there are a large number of firms in the marke
identical or homogeneous products. As SUuG

influence the price of their products and h
perfectly elastic demand curve. :

D=AR=MR

mO—X00




discontinuity in AR

(b)

i & & : (¢} fulfiiment of the @

T Sl | 4 { ! e . 3 g

(@) Marginal Cost : ight ling? _ and a price o S .

(b) Average Cost (d) price war among the firm

(c) Total Cost , Answer: .

(d) Marginal Revenye : (c) ”n op:movo? the kinked :

Answer: (1 mark) at: _
(d) Ina perfect competitive

Each oligopolist believes sﬁ;

-takers and the prevailing level, its ¢ i
lower the prices, whereas if he ra

level, its competitors will not follc

feature gives a kink shape to the ¢

[51] A firm encounters "shut down" point when__
5 (@) marginal cost equals the price of the |
e K output : b
(b) average fixed cost equals the price at the profit r
output :
Sty 4 O Quantity N M~ X (©) mcmwmmm variable cost equals the price at the profit
(a) Market (b) Individual Seller of output :
(d) average total cost equals the price at the profit
Firm's Demand Curve Under Perfect Competition output
[49] "Price Discriminatior® can be best exercised by the Seller in . Answer:
(@) oligopoly |||’|1

(b) monopoly
(c) monopolistic competition
(d) perfect competition

(e) A firm reaches a shutdown level when it is not bei
its variable cost. This means that the firm will not

payment to labour, raw material suppliers etc. In -
(1 mark) * the firm will not be able to recover its variable cost eve
>:m£m.: run. Hence at this stage the firm should stop p
(b) Price discrimination cannot persists under perfect competition down.
because the seller has no infly

ence over market determined rate.
Price Discrimination reguires an element of monopoly so that the

seller can influence the price of his product 4
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[52] _E:anézg market Condition firms make only normal profits in the long
(a) Oligopoly
(b) Monopoly
(¢) Monopolistic competition
(d) Duopoly

“Answer:
(c) In short-run, firm earn super-normal profits in the monopolistic

.ooanmz.zo: thus giving incentives to new firms to enter the
industry. As more firms enter, profits per firm will go on decreasing
mm.ﬁzm.ﬁoﬂm_ demand will be shared among large number of firms
This will happen till all the profits are wiped away and all the :S:m.

earn only normal profits.
[53] In monopolistic competition excess ca

% (a) always exists
(b) sometimes exists

(1 mark)

pacity in the firm

(c) never exists
(d) none of the above (1 mark)
Answer:
(@) An individual firm in the long run is in equilibrium position at a
it has excess capacity. Thus, the firms in
and there exists

position where
monopolistic competiti
excess capacity of pro

[54] Selling costs have to be incurred in ca
(a) Perfect Competition

(b) Monopolistic Competition

(c) Monopoly

(d) None of these.

on are not of optimum size
duction with each firm.

se of:

(1 mark)

[55] In market, the price and output equi

Answer: :
(b) Non price competition is an essential feature of
competition. Here the firms compete not on basis of
other factors such as aggressive marketing, product dev
after sale services etc. Hence incurring of selling ¢
olistic competition. ?

essential feature of monop :
librium is determined on the bass
e

of:

(a) Total revenue and total cost

(b) Total cost and marginal cost

(c) Marginal revenue and marginal cost

(d) Only marginal cost. (A E

Answer:
(c) Forthe condition of equilibrium two conditions are necessary —
(i) Marginal revenue should be equal 1o marginal cost.
(i) Marginal cost curve should cut MR from below.
Hence, equilibrium is determined on the basis of marginal cost

and marginal revenue.

2012 - DECEMBER

$
J.

ct market is characterised by :-

[56] A perfe
(a) Existence of large number of buyers and sellers
(b) Homogenous products
(c) Perfect knowledge of the market
(d) All of the above. (1 mark)
Answer:
eristics :

(d) A perfect market has following charact
1. Large number of DUYers and sellers

2. Homogeneous products
3. Free entry and exit Perfect knowledge of the market -

5. Movement of goods from one centre to another

6- Uniform price.
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[63] Non-price competitio

.l -
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M.:alﬁ.ﬂ
) An indust i
£ :c%ﬂﬁo_ﬂ:owwﬁ mm__”ﬂmm num ber of mznm.ﬁmnamﬂ firms, having
Lot the indlusiry ..O.Q s or mines under its control. Each such
= BEtition o %._ uces a homogeneous product so that there
mgmoo_..g.m: o nmm_umﬂ goods Uﬁoacnma by different units called
demand, we say ﬁh_m -.nmm%% h,m‘__.msmm =._.mwm?< i
e 1a, v 4 quilibrium, th i ili
is mn:é.u.::ﬂ price. Thus it can be said that Uzwmnmmwwmmq%h_:m
competition is determined by industry. S
[62] Under monopoly, which of the following is correct:
A o (2) ARandMR bothare Gowrward sioping
2 (b) MR lies halfway between AR and Y-axis
(c) MR can be zere or even negative
(d) Al of the above.
Answer:
(d) The relationship b
siated as follows:
(i) AR and MR ar
curves.
(i) MR curve
it cuis the

parts.
AR cannot be zero, but MR ca
Thus, all of the above statemen
n is very popular in:

(1 mark)

etween AR and MR of a monopoly firm can be

e both negative sloped (downward sloping)

e AR curve and Y axis, i.e.

lies half way between th
axis and AR into two equal

horizontal line petween Y

n be zero or even negative.
ts are correct under monopoly.

(iii)

(a) Monopoly market
listic competition

(b) MonopoO
{c) O:.mo.oo_:m:.n market
(d) perfect competition. (1 mark)
Answer:
(b) In2 monopolistically competitive market, seller try to compete on
than price, as for example aggressive advertising.
tion m:m:mmﬁ:m:a‘ efficient

pasis other
product develcp competition
after-sale service,

is a deliberate polic

ment, better distribu .
and so on. A key base of non-pricé

y of product differentiation-

[ 4.1064 | m [ solved Scanner CA Foundation Paper - 4A

[64] In the 'kinked-de ' o : y e .
& curve is: demand" curve model, the upper portion of
(a) Elastic
(b) Inelastic
(c) Perfectly Elastic
(d) Unitary Elastic.
Answer: T
(a) The demand curve faced by an oli list moao. o
Qm.ﬂm:a. curve hypothesis, has a .xﬂﬂ_”_.ow the _m<%w%. Eg.
price. It is because the segment of the demand P mwucm ng
prevailing price level is highly elastic and the segment RMW .
demand curve below the prevailing price level is e S
Hmmumnc_,__.czcanznm _,oqm:m:acmﬁQinmnmoﬁooaumﬁe: is fixed it
__u.n.u@...u

(a) Inputand Qutput
(b) Market demand and market Supply

Market demand and firms supply

(c)
(d) None of the above. (1 mark)
Answer: e ]
(b) Firmsin a competitive market aré price takers. This is hocalse |
there are a large number of firms in the market who are pro |
identical or homogeneous products. As such these firms cannet
influence the price in their individual capacities. They have o
accept the price fixed (through interaction of market demand and
supply) by the industry as a whole.
2013 - DECEMBER
(66] In a perfectly competitive market, if MR is greater than MC, then afirm
-should—
(a) Increase its production
(b) Decreasé its production
(c) Decrease its sales (1 mark)
(d) .Increase its sales _
. —————



is always an _:awﬂwgfo market, if MR is greate

o . Thus, z‘.-@ firm & mh_n_z.naj_m_ Units, Pand its pro

e Mo . Ouldinerease g pro

57] Kinked demang

- (a) Oligopoly
(b) Monopoly
(c) Eo:oumo__.__‘_
(d) Monopolistic

an MC, there
duction further

duction MR is greater than

CuUrve j i
S relateq to Which Market structure

no_dvmzzo:.

Answer: (1 —.qu._&
(a) _:"o:@ouo:mzo_:acm :

_ time. They teng Sx%mmvzomm remain sticky or inflexible foralong
declining cost. Thege w”mm ._m:mn:maa Sven It in the face of
demand e EXibilities . leaq 10 kink shape of the
Therefore, oligopolistic Mmarkets haye kinked demand curve

Y
d
_U
| I
c P
E
D
X
OuUTPUT
Thus, option a is correct.
68] In the long run a monopolist always earns
(@) Normal profit
(b) Abnormal profit
(c) Zero profit
1 mark
(d) Loss ( )

Answer: : ey
" (b) Long runis a period long enough t
- his plant size or use his existing p
his profit. In the absence of comp
produce at the optimum level.
Therefore, the monopolist will not cont
the long run. iy
He é:.mo:z:cm to make super :o....:ma profil
long run as entry of outside firm is block y
Thus, option b is correct. e
[69] Under which of the following forms of market structure d
a very considerable control over the
(@) Monopoly
(b) Monopolistic Competition =
(c) Oligopoly ; 3
(d) Perfect Competition = e
Answer:
(@) In a monopolistic competitive market since the pr

differentiated between firms, each firm does not faces a pe E
elastic demand for its product,

Each firm is a price maker and isin
a position to determine price of its own product. o
Thus, under monopolistic competition firm has considerable contre
over its price. ;
In monopoly since there is asi

producing and Supplying a product. Each firm is a price
IS in a position to determin

e price of its own product.

[70] One of the essential conditions of Perfect Competition is : ,_.,..__
(@) Product differentiation _ i
(b) Many sellers and few buyers
(€) Only one price for identical

s



[72] Abnormal profits exist in the long run only under

[73] The distinction between a sing

(c) H oﬂﬂﬂg perfect competition, the commaodity or the goods are sold
uniform price throughout the market at any given point of time.

In other io._d,m. all firms individually are price takers; they have to
Mﬂw‘n the price determined by the market forces of demand and

{71] The demand curve of an oligopolist is :

(a) Determinate
(b) Indeterminate
(c) Circular

(d) Vertical

Answer:

(b) When an oligopolistic firm changes its price, its rival firms will
retaliate or react and change their prices which in turn would affect
the demand of the former firm. Therefore, an oligopolistic firm
cannot have sure and definite demand curve, since it keeps
shifting as the rivals changes their prices in reaction to the price
changes made by it.

Hence, option (b) is correct.

(1 mark)

(a) perfect competition

(b) monopoly

(c) monopolistic competition
(d) oligopoly

Answer:

(b) Abnormal profits exist in the long run only under monopoly. He will

continue to make supernormal profits even in the long run as entry
of outside firms is blocked.

Thus. option (b) is correct. . .
le firm and an Industry vanishes in which

of the following market conditions?
(a) Perfect Competition
(b) Imperfect Competition
(c) Pure Competition
(@) Monopoly

(1 mark)

(1 mark)

4.1068 | m [Sol

Answer:

(d) In a monopoly market,
a product. This single
there is no distinction
market or monopoly. .

[74] Selling outlay is an essential part of wi
situations?

(@) Perfect Competition

(b) Monopoly

(c) Monopolistic Competition

(d) Pure Competition.

Answer:

(¢) Ina monopolistically competitive market, ¢
bases of selling cost/outlay. Sellers &
product not by cutting prices but by incurring
publicity and advertisement and sales pro
Thus, selling outlay is an essential part of m
market.

[75] The Kinked demand curve model explains the mar

(a) Pure Oligopoly

(b) Differentiated Qligopoly

(c) Collusive Oligopoly

(d) Price Rigidity

Answer:

(d) In many oligopolistic industries prices remain ¢
a long time. They tend to change infrequently
declining costs. The most popular explanation
rigidity is the kinked demand curve hypothi
Sweezy.

(78] For price discrimination to be successful, thee
commodity in the two markets should be :

(a) Same :

(b) Different

(c) Constant

(d) Zero

d o

£
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(b) Conditions for
(i) Seller should

price a.moniumzo:”
el have some control over the supply of his

(if)

Sub-markets.

(iii) _uzomlm_mmxom

sub-market.

(iv)

-priced market to
market

]

[77] The :3,_. in a perfectly Competitive market

) IS a price taker. This
o.: as a price taker is based on the assumption that:
The firm has some but not complete contr

ol over its product price
(b) There are so many buyers and sellers in the market that any one
buyer or seller cannot affect the market
(€) Each firm produces a homogeneous product
(d) There is €asy entry into or exit from the market place.
Answer:

(1 mark)
(b) The firm in a perfectl

Y competitive market is a price taker. The
designation as a price

taker is based on the assumption that there
are large number of buyers and sellers who compete among
themselves and their number is so large that no buyer or seller is
In a position to influence the demand or supply in the market.
[78] A market structure in which many firms sell products that are similar and
identical is known as -
(@) monopolistic competition
(b) monopoly
(c) perfect competition
(d) oligopoly

(1 mark)

791

(80]

Answer: e a matl -
(c) Perfect competition - muwwmm e
product that are simila

urve indicate:
A firm :mido kinked aﬂ.ﬂmﬁ%om. noa.ﬁmnmcm
(i) Ifthe firm reduces g )
(i) If the firm increases the p :
rice ] RGO ik
(i) mSm firm reduces the price, gﬂﬂ&ﬁw_.mﬂa i
: 18 - - T . “-_. -
(iv) _mz._m firm increases the price, competitive firms do not |
price
(a) Only (i) above :
(b) Both (i) and (iv) above
(c) Both (ii) and (iv) above
(d) Both (ii) and (iii) above :
nswer: L . NEs
Mu.ww :._m a firm having kinked demand curve indicates »S_mn. m.—@#...ﬂﬂgm
reduces, the price and the competitive firm also qmacomm n.ﬂm._ wqu@w
butif the firm increases the price, competitive firms do not Increase
the price. -
So, option B is correct answer i.e. Both (i) and (iv) above.
Price discrimination will not be profitable, if the elasticity of demand is
- in different markets 3
(a) uniform
(b) different
(c) less
(d) zero
Answer:

(@) Price discrimination is & method of pricing adopted by the
Monopolist in order to earn abnormal profits. |t refers to the
practices of charging dift i e samo
commodity. Thus, it will

is uniform in different market.




e

[81] In the long run, whi
" —O—J Oﬁ ﬁ:m % | i . &
* pe nmo:w.. competitive = e %:os_:@ statement is true for a firm in a
MMV .__u._._cum_.ﬂmm. at its minimum average cost
A&V ._.3M. price is more than the average fixed cost
G e M“Amm,%ﬁ%_%num_” IS greatest than marginal revenue
st is lower tha t |
I n the total variable cost
(a) In the long run, plants are used at full capacity, so that there is no
wastage of resources i.e. MC = AC. The firm adjusts its plant size
so as to produce that level of output at which the LAC is the
minimum.
Thus, we can say that a firm in a perfectly competitive industry
operates at its minimum average cost.

2015 - JUNE

[82] The firm will attain equilibrium at a point where MCcurvecuts

from below.

(a) AR curve

(b) MR curve

(c) AC curve

(d) AVC curve.

Answer:

(b) The MC curve cuts MR curve f

should have a positive slope.

[83] Ina monopoly market, a producer has control only over:

(a) Price of the commodity

(b) Demand of the commodity

(c) Both (a) and (b)

(d) Utility of the product.

[Chapte :
pter = 4 Unit : 3] Price Qutput Determination...| m _’A.,_ 071 |

(1 mark)

(1 mark)

rom below. In other words, MC

(1 mark)

| 4.1072 | m [ so[ved Scanner CA Foundation Paper - 4A

Answer:
(a) ._.:m.w monopolist or.the producers in a monopoly mark
their monopolistic power to realize maximum 34@1.
also adopt price discrimination. Therefore 3m< :m:o nt
over price of the commodity. ia
[84] One of the following is not correct about perfect competition:
(a) Purchase and Sale of homogeneous goods g
hﬂ (b) Existence of marketing costs
(c) Absence of transportation costs
(d) Perfect mobility of factors of production.
Answer:
(b) Perfect competition has following features:
- Large number of buyers and sellers of a commodity
« Homogeneous Product
« Perfect Knowledge
« Freedom of Entry and Exit
« No Extra Transport Cost 5
« Independent Decision Making

«  Perfect Mobility
[85] Kinked demand curve under oligopoly is designed to show:

(a) Price and output determination
Ab) Price rigidity

(c) Price leadership

(d) Collusion among rivals.

Answer:

(1 mark)

Y e T

(1 mark)

‘kink' at the level of the

(b) Kinked demand curve hypothesis has a
prevailing price. This kink is formed to show price rigidity.
2015 - DECEMBER
't afford to shut

: . [ | can
861 “l am making a loss, but with the rent | have ._o._umq. o
-’ " |f this entrepreneur IS attempting to maximize

down at this point of time.

& profits or minimize losses.
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Rational, if the firm is covering its variable cost
gational, if the firm is covering its fixed cost

\rrational, since plant closing is necessary to eliminate losses

(a)
(b)
(c)

i ince fixed costs are eliminated if a firm shut down.
(d) Irrational, sin i merio
nswer: o
”5 A point of operation where a firm is indifferent between continuing

operation and shutting down temporarily. The shutdown pointis the

combination of output and price where a firm earns just enough
revenue to cover its total variable costs.

87] Kinked demand curve is the demand curve of
~  (a) Perfect Competition

(b) Monopoly

(c) Monopolistic Competition

(d) None of the above.

Answer:

(d) Kinked demand curve is the demand curve of oligopoly.

[88] Price discrimination will be profitable only if the elasticity of demand in
» different markets is

(a) Uniform
(c) Less
Answer:

(1 mark)

(b) Different
(d) Zero (1 mark)
(b) Price discrimination will be profitable only if the elasticity of demand
in different markets is different because Monopolist fixes a high
price for his product for those buyers whose price Elasticity of
demand for a product is less than one. This implies that when the
monopolist charges a higher price from them, they do not
significantly reduce their purchases in response to high price.

[89] Under which of the following form of market structure does a firm have
No control over the price of its production?
(a) Monopoly

(b) Monopolistic Competition
(c) Oligopoly
(d) Perfect Competition.

(1 mark)

H’wou —

¥

The
and there ' idual action.
its output
takers’.

i »

. = ich - 3
s that situation in whic rivals.

se
i a few clo

rt on the expected pehaviour of

» parto

(a) O:@ouo_x :
(b) Monopolistic

Monopoly )
MMW Perfect Competition. o5 and 93 on
Solve the question No. 91,

Competition . s
the base of following figure:

P

G
H
|
J

O

K L FMN

Answer:

(a) Oligopoly is a market structure i
firms in decision making. Thi
competitors are few any chan
will have a direct effect on the fort
retaliate by changing their own price.

N which there is interdependence of
S IS because when the number of




(1 mark)

- MMNM_”_M _m%chwwﬂmmm Revenue curve which is also known as
2] Above figure represents a
SN (a) Monopolist
7 ~ (b) Perfectly competition industry

(c) Perfectly competitive firm

(d) None of the above. (1 mark)
- Answer:

(a) Given curve is Monopolist curve because:

() ARand MR are both negatively sloped
(i) MR curve lies half-way between the AR curve and the Y-axis.

i.e. it cuts the Horizontal line between y-axis and AR into two

equal parts.

(i) AR cannot b

/ [93] In above figure, firms
X (@ E
g ) A
(c) F
(d) B

Answer:
(¢) Marginal reven
5 petween the AR

'

e zero, but MR can be zero or negative.
marginal revenue curve is curve

:,Bmﬂ_a

F because it lies half-way

ue curve is curve
curve and the Y-axis.

%

(98]

[96]

(a) Perfect competitic
(b) Monopolistic com
(c) Monopoly

(d) Oligopoly.

Answer:

(a) The price elasticity of demand for m
perfect competition as there are larg
sellers who compete among ther
large that no buyer or seller is in a
demand or supply in the market.

Comparing a Monopoly and Competitive firm th

(a) Produce less at a lower price

(b) Produce more at a lower price

(c) Produce less at a higher price

(d) Produce zero at a lower price.

Answer: . .
(c) Monopoly is an extreme form of imperfect c
single seller of a product which has no close
compared with the perfectly competitive mar
competition, average and marginal revenue are 106
s not the case in monopoly as monopolist kn
to increase his sales he will have to th
Thus, produce less at a higher price at times.
The reason for the kinked demand curve is that:
(a) the oligopolist believe that competitors will follow

but not output reductions.
(b) the oligopolist pelieve that com
but not output reductions. . -
(c) the oligopolist believe that competitors will follow
rice rises. :
f list believe that competitors Wil
t increases. _ %

(d) the oligopo
but not outpu



prevailing price level is
7] A discriminating mono

_ inelastic.
i Polist wij
. which the demand for will Oﬁwq@

L_\___‘u (a) highly elastic
(b) relatively elastic
(c) relatively inelastic
(d) pertectly elastic,
Answer:

: e i : ¥
its product is a higher price in the market in

e

(1 mark)

highly responsive to price change
the monopolist benefits from suc

(98] If a firm under monopoly wants to sel|
L will be a
P

(@) horizontal
(b) vertical
() downward sloping

(d) upward sloping
Answer:

S is charged less. On the whole,
h discrimination.

" more, its average revenue curve
_line,

(1 mark)
(¢) If afirm under monopoly wants to sell more, its average revenue
curve will be a downward sloping line because the seller charges
a single price for all units he sells, average revenue per unit is

identical with price, and thus the market demand curve is the
average revenue curve for the monopolist.

[99]

[100]

[101]

[102]

I 2016 - DECEMBER ;

Who sets the E.._om of the product under perfect competition?
(a) Government

(b) Consumers ;
(c) Sellers

(d) Both buyers and sellers
Answer:

Qg

(d) Price of the product under perfect competition is set by bonh
buyers and sellers.

Which is the first order condition for the firm to ma

ximise the profit.
(@) AC = MR
(b) AC = AR
() MC =MR
(d) MR = AR (1 mark)
Answer:

(c) The first order condition for the firm to maximise the profits is
when marginal cost is equal to the marginal revenue.

Which market has the concept of 'group’ equilibrium in the long run?

(a) Oligopoly

(b) Monopoly

(c) Monopolistic competition

(d) Perfect competition. (1 mark) _

Answer:

(¢) Inthe long run monopolistic competition has the concept of m...o...ﬁ
equilibrium. Group equilibrium represents the price and O:.ﬁnn of
organizations having close substitutes. .

Which of the following is incorrect?

(@) Even monopolistic can eamn losses.

(b) Firms in perfect competitive market is price taker.
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103] Average revenue curve is a
(a) Profit Curve

(b) Demand Curve

(c) Average Cost Curve

(10s] P

<

T
- nit : 3] Price Output Determination...| B ?r._ oﬂt
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5 s iCi .
© s always beneficial for a firm in a perfectly competitive market

Answer:
(c) Itis always beneficial for

i

" 10 discriminative prices.
Ki E
(@) Kinked demand curve is related to an oligopolistic market.

(1 mark)

s. This statement is incorrect.

to discriminate price
Iso known as.

(1 mark)

(d) indifference Curve

Answer:
(b) Averag
104] Which is nO

so known as pemand Curve.

e Revenue curve is al

t characteristic of monopoly?

(a) The firm is price taker

(b) There is a single firm
(c) The firm
(d) The exist
Answer:

(a) A monopo
rice discri
) Differe

(a

(d) The consumers &

swer:
(c) Price disC

que product

dvertising- (1 mark)

produces a uni
ence of some a

ly is not @ price taker but a price maker.
ofitable only when:

kept separate
nd the market is more

fferent
of their purpose of
(1 mark)

mination is pr
nt markeis are
the consumer a
din different markets 1S di
d on the basis

use of the commodity-
rimination is DEEmU_m only when elasticity of demand
in different markets iS different.

a firm in a perfectly competitive market

[106]
pS

% The objectives of pric
imum profit

[108]

stry is dominated by oné large firm which

When the indu
the market is described as:

as the leader of the group,

(a) Open oligopoly

(b) Perfect oligopoly

(c) Full oligopoly

(d) Organised oligopoly- _ (1

Answer: .,

(c) Oligopoly |
firm which
group- The
oligopoly- Them
|eadership-

Which amongst t
(a) To hold the extra stocks

(b) Toeamn maximum profits
(c) To enjoy economies of scale
(d) To secure equity through pricing-

Answer: -

e industry is dominated by one large

r looked upon as the leade :
be the all

orice leader. In fu
cuous by the absence ot i

s partial when th
is considered O
dominating firm will
arket willbe conspi

o of price discrim ation?

he following 1S not an objectiv

e %moq._:.._:mzo: are here under:

# surplus stock

to dispose ©
mies of scale

2

3. toenjoy econo
4. to capturé foreig
5. tosecure equity through pricing p

Thus, option ﬁm_.m the correct answer.
g statement iS not correct? .
: - and industry-

Which of the follow!
(a) Under monopoly

(b) A :,_o:o_uo:mﬂ ma



(© commodities offered for sale under a perfect competition will be
| eterogeneous.

(d) Product differentiation is peculiar to monopolistic comp

etition.
(1 mark)
Answeit _
(c) commodities offered for sale under a perfect competition will be
- homo

genous. There are large number of buyers and sellers who
compete among themselves and their number is so large that no
puyer or seller is in a position to influence the demand and supply
in the market being the commodity dealt in it is homogeneous, in

the sen

se that the goods produced by different firms are identical
in nature.

09) Under perfect competition firm is described as:
" (a) price taker and not price maker
(b) price maker and not price taker

(c) neither price maker nor price taker
(d) none of the above.

(1 mark)
Answer:

(a) Under perfect competition firm is described as price takers and
not price makers. This is because there are large number of firms
in the market who are producing identical or homogenous
products. As such these firms cannot influence the price in their
individual capacities. They have to accept the price fixed (through

interaction of total demand and total supply) by the industry as a
whole.

{110] Under which of the following forms of market structure does a firm

have no control over the price of its product?
__ (@) Monopoly
J
_

(b) Monopolistic Competition
(c) Oligopoly

(d) Perfect Competition. (1 mark)

111} Condition for equilibrium of firm:

[(112] What is/ are feature (s) of oligopoly

y#

(a) MR = __s%u ..
b) AR=A 2 ]
Mo“ MC curve cuts MR curve from pelow :
(d) Both (a) and (c)
Answer: : . s
=8 o B =3
d) Conditions for Equilibrium of firm .
L (i) Marginal revenue should be equal to _.«ﬁn@q:m_ .
(i) MC curve should cut MR curve from Uﬂai iLe.
have positive slope. Hence poth conditions.

(a) Kinked Demand curve
(b) Cartel

(c) Downward sloping demand curve
(d) Both (a) and (b) are correct

Answer:
(d) Oligopoly is type of market in which

esilers (generaly 2 1o 10) and gl st
these are as follows: /as SO
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Y (a) Cartel

{(b) Kinked Demand Curve

(c) Inter depence

(d) Group Behaviour

(e) Importance of advertising and selling costs

[113] Monopoly is undesirable due to:

2/

[114]

o

(a) It has prices higher than competitive firms
(b) It produces less output than competitive firms
(c) It discriminates on prices

(d) All of the above.

Answer:
(d) Monopoly means where only one seller exist and take all the

profits. It has some features from his point of view and
undesirable also from public point of view these are:

(a) Price Discrimination

(b) Produced less output than competitive firms

(c) Prices higher, than competitive firm
In long run equilibrium undué perfect competi

which condition

(1 mark)
tion is/are satisfied by

= E=F
() CMC =14 (1 mark)

(d) All of the above.

Answer:
(d) Equilibrium poi

nt is judged in long run when there is/are following

conditions given
(a) Marginal Cost = Marginal Revenué oqhaoo u>_,_\.._*m
) Average Cost = Average Revenue Or - :
MMW FQ..@ M.__a Marginal Cost = Long Run Average Cost = Price or

In the long run monopolis! ,
(a) Incur losses PR, -
(b) Must earn mcum_,:o:ﬁm.nﬂ% YT
(c) Wants to shut down - e
(d) Eams only normal profits. >l
Answer: ;

(b) Monopoly means one seller and mat
of market in which seller is known as |
business gross for long time then he not onl
but also abnormal profits and which vn
the must earn super normal profits in long run.

[116] The demand curve of the firm and industry will be
of market: : . 4
(a) Monopolistic competition ok

[117]

(b) Perfect competition

(c) Monopoly )

(d) Oligopoly

Answer:

(c) Demand curve
as price set by

of firm and industry will same in
industry and firm have to
|ds maximum profits.

output which yie : ‘s
Which of these is the best example of oligopoly?
(a) OPEC R
(b) SAARC .

(c) WTO .

(d) GATT

Answer: D 5l

(a) Oligopoly market is type of market in W
sellers. =

For Ex: OPEC, cold-drink seller, wa



aperfectly competitive market, if MR is greater than MG, then a firm
hould:
(@) Increase its production
(b) Decrease its production
() Decrease its sales
(d) Increase its sales

- Answer:
(a) Ina perfect competition market, when firm increase its output of

(1 mark)

ﬁ
|
production then the reason is its Marginal Revenue/Average
4 Revenue is greater than Marginal Cost/Average Cost.
119) Equiliprium price foran industry in prefect competition is fixed through
~ (a) Inputand output
(b) Market demand and market supply
ﬁ ~ (¢) Market demand and firms supply

(d) None of the above. (1 mark)

P
ﬂ
r Answer:
._ (b) Equilibrium is that price at which both demand and supply are
, equal and therefore, no buyer who wanted to buy at that price
goes dissatisfied and none of the seller is dissatisfied that he
could not sell his goods at that price. Equilibrium price in perfect
. competition is fixed through Market Supply and Market Demand.
[120) A competitive firm in the short rum insure losses. The firm continues
production, if:
(a) P > AVC
(b) P=AVC
(c) P<AVC
(d) P =z AVC (1 mark)
Answer:
(d) Firm continues production if price is greater than or equal to
average variable cost but price is less than average variable cost
then firm will incur definitely losses which leads to closure of firm,
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[1] Rampant unemployment is found in:

(a) Boom

(b) Recovery

(c) Contraction

(d) Depression (1 it

Answer:

(b) Rampant unemployment is found only is

Contraction or Depression.

[2] According to which economist

phenomenon

(a) Schumpter

(b) Pigou

(c) Hawtrey (1 mark)

(d) Marshall

nswer:
MMV Trade cycle is purely Monetary phen .
only Hawtrey

[3] Greatest depressi

(a) 1924

by 1930

Mow 2008 pramaRis

(d) 2009

Answer .
(b) 1930152 year in W

recovery not in Boom.

trade cycle is a purely monetary for

omenon’ 1S said by on

on suffered by economy in which year.

tered by economy

hich @..mmﬁmmﬁ depression su

{7



g Inthe long run, a reduction in
y and the aggregate price leyg|

[6]

Last stage of recession is ¢

i

alled:
@) Depression

) Recovery
(©) Slowdown
(d) Al of these.
ramﬁmq”

to
(a) fall; rise

(b) fall, fall

() rise, fall

(d) rise, rise.

Answer:

(@) If firm in long run, reduce s
output whereas rise in aggregate price.

Which of the following macro €conomic variables would you include in

an index of leading €conomic indicators?

(a) Employment

(b) Inflation

(c) Real interest rates

(d) Presidential investment

Answer: ;

(d) The variables that chan
leading indicators’. T
adjustment.
variables.

Industries that

(@) durable go

(b) non durab|

(¢) capital go

(d) capital g

upply of labour then it will cause fall in

(1 mark)

ge before the real output changes are called’
hey often change prior to large economic
It will include residential investment as one of its

are extremely sensitive to the by
ods and service sectors

€ goods and service sectors
0ds and non-durable goods sectors
00ds and durable goods sectors

siness cycle are the -

(1 mark)

- 4A (New =
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(8]
¥

[1]

[2]

r nature i.e. long
: oocds both are of same
(d) Capital goods and du able g

it the
remely sensitive .10
term period. Tnese Bel BrS i :o._u.mo smooth by.
business cycle. Without these busi = o direction as aggregate
An economic variable that moves in the Eﬂwmoo::.mozo:m e calind.
economic activity down in expansions, up
(a) procyclical
(b) counter cyclical
(c) a cyclical
(d) a leading variable
: i i i ion as
M”u..v_wwc% amoo:o_.:mn variable that moves in .:...m OU.UQm.;m QM:@%QM“ =
aggregate economic activity E.oi: In expansion
contraction) is called counter cyclical

{1 mark)

PRACTICE QUESTION OF NICQ

The four phases of the business cycles are:
(@) Peak, recession, trough and depression
(b) Peak, recession, trough and boom

(c) Peak, depression, trough and boom :
(d) Peak, depression, burst and boom
Answer:

(b) Peak, recessio
Great Depress
(a) 1930
(b) 1947
(c) 1857
(d) 2000
Answer:
(a) 1930

n, trough and boom
on occurred during:




__E Pigov

- (b) Hawtrey

(c) Keynes

(d) Schumpeter
u Answer:
(a) Pigov

18] Accordingto___________trade cy«

- ﬁ which takes place in the m<m$3 it

(a) Pigov ‘

(b) Hawtrey R
(c) Keynes . -
é vaﬂ was 88:&226: (d) Schumpeter
%mim... ; Answer:
{¢) Macro economic policies {d) Schumpater
-v s
ﬂmm is the measurable economic factor that changes before sl Mmq_ww_mmw_hmm__wmﬁu%mwwmzmq real output ch:
== %zg._w starts to follow a particular pattern or trend: (b) Lagging indicators
- Amv rmma_3@ _:Q_nmﬂoq (c) Coincident indicators
M_WW Wu%@_:m __gm_..o.q%.oq . (d) None of these
- 'c; Concurrent indication Answer:
(d) Coincident indicators . (b) Lagging indicators
,ﬂ_..mim_.. [10] Severe form of recession is called:
(&) Leading indicator ¥  (a) Boom :
W_ The Rhythmic fluctuations in aggregate economic activity over a period (b) Depression
: of time are called: (c) Trough
. (a) Business cycles (d) Recovery
(b) Trade cycles ﬂwmwmmwa R
b ssi
= @ mou._ AMW Mﬂmﬂm ) 111] Industries which are extremely sensitive to busi
_._1_ (a) Ncn durable goods
(b) Service Sector
Aﬁw mQ: (a) and (b) . . (c) Capital goods and durable goods
ording to _modern business activities are based on (d) None of these
tion of business communities and are affected by waves of Answer:

% nism and pessimism: (c) Capital goods and durable cost
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Business Cycles are known collectively as:

.um_ Peaks and troughs o "
~ (a) Tuming points 17] During the slow down of economy,
- (b) Indicators : vﬁ - (a) GDP is increasing at ,,mﬂmﬁ aw%m

(c) mmwn:;_c_._:B points (b) ‘GDP is increasing at slow
__ (d) Contraction

(c) GDP is decreasing at fast rate
dewqmmwmﬂ * (d) Allof these
ndicators Answer: )
i i is i i low rate
13] During recession out ut: (b) GDP is increasing ats | ’ e
| & : [18] The economic boom is characterised mm. period wh
(b) Rises (a) Rising employment
(c) Expands (b) High demand of imported goods.
(d) None of these. (c) Increase in investments
Answer: (d) All of these
(a) Falls

[14] Business cycles
(a) Free market

Answer:

generally originate in: (d) All of these

economies [19] Which macro economic variables are excluded from leading economic
(b) Imperfect economies indicators: :
(c) Developed nations (a) Industrial production
(d) Low growth economies (b) Residential investment
Answer: (c) Money wE.uUE
(@) Free market economies d) Inventory investment

[15] At the time of Great Depression of 1930, GDP fel| : Answor:

) 142 ’ around: (b) Residential investment
(b) 15% [20] When aggregate economic activity is declining, is the phase of:
(€) 20% (@) Expansion
(d) 25% (b) Contraction

- Answer: (¢) Recovery
(b) 15% (d) Trough

[18] The highest point of business cycle is known as: Answer:

" (a) Trough (b) Contraction
(b) Peak
) Trend
(d) Boom o

Answer:
(b) Peak



